I ——————————————————————————————————
UGC NET 2021 Punjabi
Topic:- GP_24NOV_SH2_A
1) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees|

DepartmentsTotal Numberz\at]o Total Number Rat1:
IT 250 1 |11 240 2 |1
IAccounts 123 2 |11 130 3 2
HR 90 3 |2 30 2 1
Marketing 350 5 (2 343 5 (2
Production [304 5 |3 [351 5 4

AIfeTahT BT 31RIel B2 3R 3AD ofld CU s3I0 gesll D 3az ¢ &
ofid & o1 aferot 3 b=l FeTo01 B fAffteot fmell d wor walanf¥=il Bt iz aen gy iR afden sopura G sk 3

forrfare watest riferer smenfea wafarst
femor BT AT P Bl AT el

= >y @fden| ~ U @fdelr
ot & 250 |1 [ 1] 240 [2] 1
craat 123 [ 2 [ 1] 130 [3]2
oo wamert | 90 | 3 [ 2| 30 [ 2] 1
IRavror 350 [ 5[ 2] 343 [5]2
fgeureat 304 [5[3] 351 [5] 4

Find out the average number of regular female employees in the organization.

Jorool 3 forafdra aifdcn wafanfent & siieaa Fizear sird @3 :

[Question ID = 1211][Question Description = S2_qSNz_PG_GP16_Q01]
1. 83.20/83.20 [Option ID = 4841]
2. 81.25/81.25 [Option ID = 4842]
3. 78.50/78.50 [Option ID = 4843]
4. 79.40/79.40 [Option ID = 4844]

Correct Answer :-
e 83.20/83.20 [Option ID = 4841]

2) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees

DepartmentsTotal Numbe :\atlo Total Number Rat1:
IT 250 1 |1 240 2 1
lAccounts 123 2 1 130 3 2
HR 90 3 2 (30 2 1
Marketing (350 5 |2 343 5 |2
Production [304 5 |3 [351 5 |4

AIfIDT DI 3MERIGT D3 3R IAD ofid 3w 16 yesli S IR S ©
oii<l €I o1 earfereor 3 bl Foro01 @ fdf¥ioot faamell 3 ager watenfyl oI Fizsn aem gy $ii #Afdenr sefurd f¢ar sk &




me Rriffa odar®l  Rrer snenfya wefardt
. |oropama . proqur
ot e gay (#fc Bet e >y #Afgen
o & 250 [ 1 [ 1] 240 [2] 1
craar 123 [ 21| 130 [3]2
oo wizerot| 90 | 3 [ 2| 30 [ 2]
IRroror 350 | 5|2 343 [5] 2
[geuTeaT 304 [5[3] 351 [5] 4

Find out the difference between regular male employees and contractual male employees in the organization.

Joroa 3 forifda gy wefaniIl 3iiR 2ifder snenfea ysy il &l e oI 3iar 31 @3 ©

[Question ID = 1212][Question Description = S2_qSNz_PG_GP16_Q02]
1. 2/2 [Option ID = 4845]
2. 3/3 [Option ID = 4846]
3. 4/4 [Option ID = 4847]
4. 5/5 [Option ID = 4848]

Correct Answer :-
e 2/2 [Option ID = 4845]

3) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees|

DepartmentsTotal Numberz\at]o Total Number Rat1:
IT 250 1 |11 240 2 1
lAccounts 123 2 |11 130 3 2
HR 90 3 |2 30 2 1
Marketing 350 5 (2 343 5 (2
Production (304 5 [3 351 5 |4

AIfeTapT BT 31¢RIel B2 3R 3AD ofld G o180 gesll D 3az ¢ &
ofid & o1 afernt 3 b=t Fero01 & fAffieot fmell 3 wor wafanf¥=il Bt iz aen gy iR afden sropura G sk 3

Rrifi wsfarft  pifdicr anenfya afarst
feor el AT P el AR el

= >y @fden| ~ g @fdelr
o & 250 |1 [ 1] 240 [2] 1
craat 123 [ 21| 130 [3]2
oo wamerst | 90 | 3 [ 2| 30 [ 2] 1
IRavror 350 [ 5[ 2] 343 [5]2
fgeureot 304 [5[3] 351 [5] 4

What is the respective ratio of the total number of female employees in the marketing department to the total number of
female employees in the production department?

frauret fesirer 3 aifden wafanf¥Il Bl ager e aen Ieurcol fasier 3 afden eyl bl et e @ i o siopurd 3 ?

[Question ID = 1213][Question Description = S2_qSNz_PG_GP16_Q03]
12/13/12/13 [Option ID = 4849]
11/13/11/13 [Option ID = 4850]
12/17/12/17 [Option ID = 4851]
11/15/11/15 [Option ID = 4852]

A WN -

Correct Answer :-
e 12/13/12/13 [Option ID = 4849]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.




Regular Employees |Contractual Employees|

DepartmentsTotal Numberz\at]o Total Number Rat1:
IT 250 1 |1 240 2 |1
IAccounts 123 2 |11 130 3 2
HR 90 3 2 |30 2 |1
Marketing 350 5 (2 343 5 (2
Production (304 5 |3 [351 5 4

AIfeTapT BT 31RIel B2 3R 3AD ofld $U s3I0 gesll D 3az ¢ &
ofid &t o1 afernt 3 Rl Fero01 B fAffieot femell d wor ¥l Bt iz aen gy iR afden sropura G sk 3

forifara aatarst Rifarer smenfea watarst
[T el IR P el AT P

- gy @fden| ~ gy @fdelr
o€ & 250 | 11| 240 [2] 1
eraar 123 [ 2 1] 130 [3] 2
oo dizmem | 90 | 3| 2| 30 [ 2] 1
IRraoror 350 | 5| 2| 343 [5] 2
fgeureor 304 |5|3] 351 [5] 4

Find out the difference between the number of contractual male employees and the number of contractual female
employees in the organization.

3Jis1o01 3 Jifeer sienfya gry iyl &I A aea 2ifder snenf¥a aAfden wafanfRil b e @ dia siar s @3 ¢

[Question ID = 1214][Question Description = S2_qSNz_PG_GP16_Q04]
298/298 [Option ID = 4853]
295/295 [Option ID = 4854]
302/302 [Option ID = 4855]
307/307 [Option ID = 4856]

A W N -

Correct Answer :-
® 298/298 [Option ID = 4853]

5) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees|

DepartmentsTotal Number:\at]o Total Number Rat1:
IT 250 1 (1 240 2 1
IAccounts 123 2 (1 (130 3 2
HR 90 3 |2 30 2 1
Marketing (350 5 |2 343 5 |2
Production (304 5 |3 [351 5 |4

AIfeTapT BT 31ERIT @3 3 3AD ofld 3 318 gesll b 3az ¢ &
oifax &t or¢ enferopt 3 bl vicToo1 @ faféicot fpimell I 1 wefaif¥l &I v asn ysy ik aifden sopurda &= srm 3

forIf3ra aafarst Rifdrer smenfea wafarst
[fers T . SreUred . SroIare

et e gsy afden > e o aAfgern
B & 250 1 1 240 2|1
I 123 2 1 130 3| 2
FToTd HATEGT 90 3| 2 30 2 (1
feraorer 350 5| 2 343 5| 2
SeurGol 304 5|3 351 5| 4

Which department has the highest number of female employees?



fooa fasier & aifden wafanfyt & waiftre dwcn 3 ?

[Question ID = 1215][Question Description = S2_qSNz_PG_GP16_Q05]
1. IT/am & [Option ID = 4857]

2. Production/3eureer [Option ID = 4858]

3. Accounts/erar [Option ID = 4859]

4. Marketing/fuurer [Option ID = 4860]

Correct Answer :-
e |T/am ¢ [Option ID = 4857]

Topic:- GP_24NOV_SH2_B

1) Which of the following is the highest level of teaching?

forgotfeiRaa af A ol AT I Faz a1 forgmor 3 ?

[Question ID = 1216][Question Description = S2_qSNz_PG_GP16_Q06]
1. Memory/zafer [Option ID = 4861]

2. Understanding/dler [Option ID = 4862]

3. Reflective/faeff [Option ID = 4863]

4. Thinking/fidor [Option ID = 4864]

Correct Answer :-
® Memory/¥fer [Option ID = 4861]

2) Which of the following are the characteristics of an adolescent?
A. Increasing independence from adult control

B. Rapid physiological changes

C. Emotionally matured

D. Acts rationally

E. Increased focus on activities with peer groups

Choose the correct answer from the options given below:

faponzt &t fogerferRaca 3 A ®lor 2t fadrgars 3 ?

A. @i B BRIqUI A gl Fadgar

B. diiq sreifasiform uf¥ador

C. smarca® »u A uluaa

D. aif¥Se eRepivr A Rgar wwon

E. et el & e sifefaf?ril ue sifires exmet Soir

oifd fu a1 frpeul 3 3 Al IR BT TR DIfSTU :

[Question ID = 1217][Question Description = S2_qSNz_PG_GP16_Q07]

A and B only/dact A siiz B [Option ID = 4865]

A, B and C only/d@act A, B siiz C [Option ID = 4866]
A, B and D only/@aet A, B siiz D [Option ID = 4867]
A, B and E only/adact A, B 3iiz E [Option ID = 4868]

A WwWN =

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 4865]

3) Which of the following are the most influential factors of learning?
A. Government policy

B. Motivation

C. Aptitude

D. Interest

E. Physical facilities

Choose the correct answer from the options given below:

forgstfeiRae 3t A @lot A sifeer @5 A Prdt dR® 3 ?



A. IRDRHI ofifer

B. srférgrom

C. arfdsgrarar

D. aifisfr

E. siiferp gfems

ofi o s1u fwsedl & A A8 IR BT WRI6l HIfRIU :

[Question ID = 1218][Question Description = S2_qSNz_PG_GP16_Q08]

. A, B and C only/dact A, B 3iiz C [Option ID = 4869]
. B, Cand D only/asae B, C siiz D [Option ID = 4870]
. C,DandE only/aqae C, D siz E [Option ID = 4871]
. A, Band E only/daet A, B iz E [Option ID = 4872]

A W N -

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 4869]

4) Match List | with List Il

List | List Il

Institutions Offering Courses Through SWAYAM |Level of Education

IA. NCERT I. Post school education

B. IGNOU Il. Undergraduate education
C. CEC Ill. Postgraduate education
D. UGC IV. School Education

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

oxe -1 et -1l
(IRl D ATEAH A VI AIferd w2l arcil Fizend ) |(fArgmor o1 FaR)

A. ol Ml $ 3R & |. @t - 3uRIed frem
B. s30] Il. sraz Fomaa forgm
C. 2t € 2t lll. FemamraR Pign
D. g sit 3t IV. F@e g

ofla fou s1e frseul 3 ¥ A IR gforw ©
[Question ID = 1219][Question Description = S2_qSNz_PG_GP16_Q09]

A-1V,B-1,C-1ll, D - Il [Option ID = 4873]
A-1V,B-1ll, C-1,D - Il [Option ID = 4874]
A-1V,B-1,C-1l,D - Ill [Option ID = 4875]
A-1V,B-1l,C-1ll, D - | [Option ID = 4876]

A W N -

Correct Answer :-
e A-IV,B-1,C-1ll, D- Il [Option ID = 4873]

5) In a learner-centric approach, a teacher should:

f¢ErEIpdl - DA 3uPH 3 151 P -

[Question ID = 1220][Question Description = S2_qSNz_PG_GP16_Q10]

clarify concepts by citing examples/3cra2u1 yzga @ s@enunaii ®l Juse ol aifew [Option ID = 4877]

facilitate student learning/=rq @ siféerr @t siRiel gotlon aife [Option 1D = 4878]

explain concepts by using adequate support materials/wRIft JeRIB JAWE] BT IWRIST BID ARV 6 RMRRN Bl aifde [Option ID = 4879]
demonstrate inside the classroom/wmgn @ sicz ygolol w2 fExaren aifde [Option ID = 4880]

A w N =

Correct Answer :-
e clarify concepts by citing examples/3c1au1 gzgd &3d aerRusil ol e ool daifde [Option ID = 4877]

6) Independent verification of a research effort is known as

o=t ofler YRIRT o1 Fadq AcAUel aRIT Baelidl & ?

[Question ID = 1221][Question Description = S2_qSNz_PG_GP16_Q11]
1. Enquiry/gcert [Option ID = 4881]

2. Probe/siia [Option ID = 4882]

3. Replication/ysrmgfer [Option ID = 4883]

4. Investigation/smawur [Option ID = 4884]

Correct Answer :-



® Enquiry/gcet [Option ID = 4881]

7) Which of the following are characteristics of quantitative research?
A. Questions are open-ended

B. Identified variables are measured

C. Questions are standardized

D. If the sample size is large, the findings can be easily generalised

E. It is difficult to fix the level of measurement

Choose the correct answer from the options given below:

forgotferfRaa 3 A ot 2l aAqIca® 9ner &t fadraam 3 ?

A. gt Hep-IadRI 3l 8

B. aifdiforerifea o=l o1 amuor fopem sirar 3

C. Yoot Arerblapd X &

D. afe yfergol oI st as1 3, dl forsadl @I 3irArell A ARIIAduT fova SIr JAddar 3
E. #I9ol I3 T Boll Dol BXer 3

il feu aru el 3 2 A8 IR D1 WRIet B :

[Question ID = 1222][Question Description = S2_qSNz_PG_GP16_Q12]

. A, B and C only/daer A, B aiiz C [Option ID = 4885]
. B, Cand D only/@aet B, C siiz D [Option ID = 4886]
. C, D and E only/daaer C, D siiz E [Option ID = 4887]
. A, Cand E only/aqet A, C aiik E [Option ID = 4888]

A w N =

Correct Answer :-
e A, Band Conly/dac A, B 3iiz C [Option ID = 4885]

8) Given below are two statements
Statement I: Researchers in history are myth makers.
Statement II: Various movements in social history- new history - have provided new narratives for history researchers.

In light of the above statements, choose the most appropriate answer from the options given below

ofid <1 Dot Ru sme 3 :

ool - | : sftrert oleraat e - foraifar axa 3

el - || : ammfore sferert - o sferert # fAfticol sticlcrll of sfersrt oNerdalsil & e 51U JIReITeT IucTets BT 3
SWRITP Pl @ el i, ofld 3w s1e Ripedl 3 A A8l Iar I a6t HifSte :

[Question ID = 1223][Question Description = S2_qSNz_PG_GP16_Q13]

Both Statement | and Statement Il are correct/aermer | 3iiz |l Sloil 218t 8 [Option ID = 4889]

Both Statement | and Statement Il are incorrect/@erwer | 3i2 1l GXali sieta & [Option ID = 4890]

Statement | is correct but Statement Il is incorrect/emwt | 31t 8, fpoq et |l sieta & [Option ID = 4891]
Statement | is incorrect but Statement Il is correct/@emt | a1 &, fbog e |l 3@t 8 [Option ID = 4892]

A wWw N -

Correct Answer :-
e Both Statement | and Statement Il are correct/emt | 3iiz Il Gleil &t & [Option ID = 4889]

9) According to Wimmer and Dominick, the sequential steps in content analysis are:
A. Defining the population

B. Selection of appropriate sample

C. Identifying the unit of analysis and construction of categories

D. Code, analyse and draw inferences from the collected data

E. Formulation of the research question or hypothesis by the researcher

Choose the correct answer from the options given below

foer 3iiz SNAford & SRR farerrarq farasuur & foraferRan vl @Y A8} o o 3 :
A. wrafte ot uf¥snfa wen



B. 3R yfercof @1 arIol et

C. Rrea3uur &l s 3R ORI &I Fzaen &l usdrel Bl

D. ioyfaa sripsi @l deay ®oll, Re3HuT ool 3iiR forsat formreron

E. onerwal grr oner ussil = uf¥ascueinsil a1 forarfor w2

ofid o s1u faseal & A A8} IR BT wRI6T BT :

[Question ID = 1224][Question Description = S2_qSNz_PG_GP16_Q14]

D, E [Option ID = 4893]
E, A [Option ID = 4894]
, A, B [Option ID = 4895]
C, D [Option ID = 4896]

A W N -

Correct Answer :-
e A B, C, D, E[Option ID = 4893]

10) Match List | with List Il

List | List Il

Ethical concepts Source

A. Categorical imperatives I. Aristotle

B. Utilitarianism 1l. John Rawl

C. Golden mean Ill. Immanuel Kant
D. Theory of justice IV. John Stuart Mill

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et - | et -1l
(oifere sraemzumg) ()

A. forzuer smer l. sReq

B. SurnfSrdararg Il. Sifer e

C. zavf aear I11. saregarct wic
D. s @1 Rigia IV. sifar F¢aré Brex

ofla fou o1 frseul 3 3 A IR gforw ©
[Question ID = 1225][Question Description = S2_qSNz_PG_GP16_Q15]

-1, B-1I,C-1ll, D - IV [Option ID = 4897]
<1, B-1ll, C-1V, D - | [Option ID = 4898]
-1, B -1V, C-1,D - Il [Option ID = 4899]
<1V, B-1,C-1I, D - Ill [Option ID = 4900]

Sl
> > > >

Correct Answer :-
® A-I,B-1l,C-IlIl,D- IV [Option ID = 4897]

11) In the transactional type of communication, the elements are:

JIasifea AYYT A, davd DA Bld & ?

[Question ID = 1226][Question Description = S2_qSNz_PG_GP16_Q16]
Independent/zadq [Option ID = 4901]

Inter-dependent/uuz forsfz [Option ID = 4902]

Neutral/aezer [Option ID = 4903]
Inactive/foiftazr [Option ID = 4904]

A WN -

Correct Answer :-
e [ndependent/zacd [Option ID = 4901]

12) Which of the following influence non-verbal communication?
A. Avoidance of signals

B. Invisible incongruence

C. Culture

D. Geographical location

E. Contextuality

Choose the correct answer from the options given below:



forgotferiRaea 3 A aRn sr9nfecd AYWUT DI YaIfdd e & ?

A. 3iddl @1 uf¥sr

B. sre9u fardaifer

C. szl

D. silsiifcre sraf¥erfer

E. wichifodar

il fou s1u frpeul 3 A & 3R BT a6l HIfSIE ¢

[Question ID = 1227][Question Description = S2_qSNz_PG_GP16_Q17]

A, B and C only/@aa A, B siiz C [Option ID = 4905]
B, C and D only/a@aet B, C siiz D [Option ID = 4906]
C, D and E only/@aa C, D siiz E [Option ID = 4907]
A, D and E only/d@aet A, D siiz E [Option ID = 4908]

A WN =

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 4905]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Communication must include the transfer and understanding of messages and their meanings.
Reason R: Achieving perfect communication is a technical possibility.

In light of the above statements, choose the correct answer from the options given below

oiid ol Pl f[Gu arw 3 @ Ul s (Assertion A) @ U & 3R GRI 3D BRI (Reason R) @5 »u 3 :
sifdreperor (A) : Aiguor 3 Aol 3z Jord arell T 3icr2vT i1z dler 39 ARARI Aol a1fde

@Rl (R) : uf¥yui AYHUT BT €18 I DI TD ddoildl JAHIRIAT 3

SURITD Dol B 3MIelid 3, ofi fGu el 3 A I IR BT wRIe DI :

[Question ID = 1228][Question Description = S2_qSNz_PG_GP16_Q18]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil 3@t 2 3z (R), (A) &t 3d saeen 8 [Option ID = 4909]

2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) g6l @t 8 weag (R), (A) 6l 3 =en ot & [Option ID = 4910]
3. Ais true but R is false/(A) 3t & u3oqg (R) 3@l aél & [Option ID = 4911]

4. Ais false but R is true/(A) 3@t oidt @ weoq (R) 2t 8 [Option ID = 4912]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) cleil 2@t 8 iz (R), (A) &t 3 =m=n & [Option ID = 4909]

14) According to Robbins et al, the sequence of communication functions is :
A. Control

B. Motivation

C. Emotional expression

D. Information

Choose the correct answer from the options given below

3ifereet ud 3o D IGRAR AYHUT Gl DI A QI TRIT 8 ?

A. foriqur

B. siférgzom

C. e Ifcaftn

D. Siorert

il fou s1u freseul 3 2 I IR BT a6l HIfSIE ©

[Question ID = 1229][Question Description = S2_qSNz_PG_GP16_Q19]

B, C, D, A [Option ID = 4913]
D, A, C, B [Option ID = 4914]
. C, D, B, A [Option ID = 4915]
A, B, C, D [Option ID = 4916]

A W N -

)

Correct Answer :-
e B, C, D, A [Option ID = 4913]



15) Which of the following are the traits of a competent communicator?
A. Mindfulness

B. Receptive to new information

C. Thinking before acting

D. Should always go by the first impression

E. Be passive to issues around

Choose the correct answer from the options given below:

forgotferfiaa 3 A ot A A YT S SIVT 3 ?

A. I daar

B. ¥ Sieiasdt &t sgureficrar

C. oK figar 2ol A usd 3AD arR A Aol

D. gerr geira o1 216l 3 3D 3161 dGolT

E. 311 - urt & el & yfer forfSaga 2aon

il feu sru fareedl 3 A A8 IR @1 TRIe B :

[Question ID = 1230][Question Description = S2_qSNz_PG_GP16_Q20]

A, B and C only/d@act A, B siiz C [Option ID = 4917]
B, C and D only/a@5aa B, C aiiz D [Option ID = 4918]
C, D and E only/aae C, D siiz E [Option ID = 4919]
A, D and E only/@aet A, D siz E [Option ID = 4920]

A w N =

Correct Answer :-
e A, Band C only/aact A, B 3iiz C [Option ID = 4917]

16) What comes next in this sequence?

1,2,2,4,8, 32,7

offa feu s1u srgpaA 3 sEIch e ®lat i deh ?
1,2,2,4,8, 32,7
[Question ID = 1231][Question Description = S2_qSNz_PG_GP16_Q21]

84/84 [Option ID = 4921]
64/64 [Option ID = 4922]

128/128 [Option ID = 4923]
256/256 [Option ID = 4924]

A W N -

Correct Answer :-

e 84/84 [Option ID = 4921]

17) If seven persons can build a house in 30 days, how long will it take three persons to build the same house, provided
that they all work at the same rate?

afe Ara caftp et s1wrer ot 30 o1 3 goir AAD 3, ol caftpal DI 3 ADIoT DY Follol 3 ol a1 crelal, oKt fb a it a6t 52 A TRl
DS ?

[Question ID = 1232][Question Description = S2_qSNz_PG_GP16_Q22]
100 days/ 100 f&et [Option ID = 4925]

70 days/70 Rt [Option ID = 4926]

30 days/30 f&et [Option ID = 4927]

210 days/210 for [Option ID = 4928]

A W N -

Correct Answer :-
e 100 days/100 f&er [Option ID = 4925]

18) If the difference between compound interest and simple interest on some principal amount at 20% for 3 years is Rs 64,
then the principal amount is -

Afe o=l ererol R 20% oI g2 A 3 ad @ e aqgls st ik ATLRYI RATST DI 3R 64 FURI 3, dl a8 Jcielol A D2
[Question ID = 1233][Question Description = S2_qSNz_PG_GP16_Q23]



Rs 495/% 495 [Option ID = 4929]
Rs 550/% 550 [Option ID = 4930]
Rs 375/% 375 [Option ID = 4931]
Rs 500/% 500 [Option ID = 4932]

A W N -

Correct Answer :-
® Rs 495/ 495 [Option ID = 4929]

19) Given below are two statements

Statement I: The angle between the minute hand and the hour hand of a clock when the clock shows 3 hours 20 minutes is
25°

Statement Il: Between 4 and 5, the minute hand and hour hand of a clock will be coincident at 51 2 minutes past 4.
11

In light of the above statements, choose the correct answer from the options given below

off< < werer Ry a1 3 :
@l - | : afe adl 3 ssr 20 o1 @1 JRM gorlddl 3 dl 3AdI @ b 32 3iiR frere bl I D i 25° o1 Blvr Jorar 3

@l - Il : 4 30z 5 @ & 4 ssia glimmﬂaﬁ&ﬁgéaﬁimﬁgéwme{ﬁ{aﬁﬁ
11

JURITP DYoll B 31Tl 3, ol [Su 31u fadmeul 3 A A8l 3= @I a6l HifSTe &
[Question ID = 1234][Question Description = S2_qSNz_PG_GP16_Q24]

1. Both Statement | and Statement Il are true/@emw | aii2 |1 Sleit 3 & [Option ID = 4933]

2. Both Statement | and Statement Il are false/aermet | 8iiz || Gleil sRicr & [Option ID = 4934]

3. Statement | is true but Statement Il is false/@emwr | 3 &, fpoq weret |lsricr 8 [Option ID = 4935]
4. Statement | is false but Statement Il is true/@mermet | 31 31 8, fbog et || 3= & [Option ID = 4936]

Correct Answer :-
e Both Statement | and Statement Il are true/@erer | iz 1l @lail 31 3 [Option ID = 4933]

20) Which of the following statements are correct?

A. If the cost price of an item is Rs.56 and the gain percentage is 20%, the selling price of the item is Rs.76.2.
B. If the cost price of an item is Rs.80 and the loss percentage is 15%, the selling price of the item is Rs.68.

C. If an item purchased in Rs.5 is sold for Rs.6, the profit is 25%

Choose the correct answer from the options given below

forgotferfRaa weril uz frar Hif :

A. afe fop2ft avq @1 o dica 56 FuA 3 30k 3A uR 20% oI BT 8, Al 3A avg Dl [ e 76.2 IuA 3
B. afe fp2ft avqg o1 o dca 80 U 3 3R 3A Jaol uz 15% aifer 3kl 3, Al 3A avg &1 [z Jea 68 IuA 3
C. af¢ fop=fl avqg @l 5 U & Wiicm 6 SR 3 Ja1 SIar 8 dl 3} uR 25% eI siar 8

SuRfts 3 A ot 711 / A DA AR B/ E?

[Question ID = 1235][Question Description = S2_qSNz_PG_GP16_Q25]

1. Conly/aac C [Option ID = 4937]
2. Bonly/@ac B [Option ID = 4938]
3. Band C only/dact B sfiz C [Option ID = 4939]
4. A and B only/dact A siiz B [Option ID = 4940]

Correct Answer :-
e C only/a@ac C [Option ID = 4937]

21) Match List | with List Il

List | List Il

A. Vyapti I. An immediate valid cognition of reality due to some kind of sense-object contact
B. Anumana |ll. A source of knowledge on the basis of the likeness of things

C. Pratyakshallll. Knowledge of an object due to previous knowledge of some sign or mark

D. Upamana |IV. The universal relation between the middle and major term of inference
Choose the correct answer from the options given below:

It -1 B e -1l A gk B
bacht -1 el Il




|. fp2ft yopRrR @ sfogaret Afoorad & drRUT Aemef o1 acera de

A. cfi

isiIol
B Il. <fisit Bt AdFUAT D MENT U Silol BT A
3IofdToT

C. geagr  lll. fepeii icda =1 Rre @ yd el @ smeR UR fopedl avg o1 siror
D. suairer |IV. siofdItel @ 3d Ug 3k AIeA U @ i Asard forman
oiil f¢u aru famedl 3 A A8 3R gforu :

[Question ID = 1236][Question Description = S2_qSNz_PG_GP16_Q26]

1. A-1,B -1V, C-1il, D- Il [Option ID = 4941]
2. A-11,B-1ll,C-1,D - IV [Option ID = 4942]
3. A-1I,B-1l,C-1,D - IV[Option ID = 4943]
4. A-IV,B-1lIl, C-1,D - Il [Option ID = 4944]

Correct Answer :-
® A-I,B-1V,C-Ill,D- Il [Option ID = 4941]

22) Match List | with List Il

List | IList II

A, Sannidhi||. Mutual fitness and compatibility of the constituent words in a sentence
B. Tatparyalll. Expectancy between the words different in a sentences

C. Yogyata |[lll. Propinquity between the different words in a sentence

D. Akanksa[lV. Meaning intended by the sentence

Choose the correct answer from the options given below:

el -1 @1 3 -1l A Fgaifera Hifste ¢

xet -1 Rreht -1

A. afsorfer ||, araRr 3 Faed 9rec] bl uRIUly® SuYEpdr 3R JHoIddr
B. arca=f  [Il. araRr & orscl @ i yezmon

C. a=rar ||l ara=r & fafdreot orscl @ dia AABficT

D. smepignm IV, araRr gRI ifdga sref

ofid fou o1 fweal & A wd IR g :

[Question ID = 1237][Question Description = S2_qSNz_PG_GP16_Q27]

1. A-11,B-1,C-1ll, D - IV [Option ID = 4945]
2. A-1IV,B-1l,C-1ll, D- | [Option ID = 4946]
3. A-1I,B-1,C-1V, D - Il [Option ID = 4947]
4. A-1I,B-1V,C-1,D- Il [Option ID = 4948]

Correct Answer :-
e A-Il,B-1,C-1ll, D-IV[Option ID = 4945]

23) Name the fallacy committed in the argument.
"All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets."

Choose the correct answer from the options given below

il fou s1e a@ 3 Blol A1 ab AT 3 ?

13fl B SIreTaR Urelq] SilolaR &

DI Yformlol Urerd, SIoIaR ol 3

sAfere @B Iformlol T3¢ Siolar ol &

[Question ID = 1238][Question Description = S2_qSNz_PG_GP16_Q28]

. Undistributed Middle/ s &g [Option ID = 4949]

. Affirmative conclusion from Negative Premises/oibRIcoHD 3men ard=il 3 AbRIcHD forepd [Option ID = 4950]
. Exclusive fallacy/smuasia @@ gt [Option ID = 4951]

. Existential fallacy/sif¥arauze aa giw [Option ID = 4952]

A W N -

Correct Answer :-

e Undistributed Middle/smema 2 [Option ID = 4949]

24) Consider ‘A’ proposition as ‘True' and ‘False' respectively, in a square of the opposition of propositions, then which one
of the following is correct?



a® arRll @ faudia oot # 'A’ g araR o1 @aen: HEl SR orad’ Al foretfeiRaa # A ®ler A1 A8 G 3 ?

[Question ID = 1239][Question Description = S2_qSNz_PG_GP16_Q29]
1. '0"is True and 'I' is False/'O" 3t 3 3l 'I' srcir @ [Option ID = 4953]

2. 'E'is Undetermined and 'O’ is False/'E’ aiforerif3a & siiz 'O’ srera @ [Option ID = 4954]
3. '0O'is Undetermined and 'I' is False/'O’ aforerif3a 8 sii I sretr & [Option ID = 4955]

4. 'I'is True and 'E' is False/'l' 31t 8 3l 'E' srer@ 8 [Option ID = 4956]

Correct Answer :-
e 'O'is True and 'I' is False/'O’ 3@t 2 3iiz 'I' arera & [Option ID = 4953]

25) In which of the following forms of knowledge there cannot be any predication of the object in terms of the subject-
predicate relation?

forgoticii¥aa 3 A v Il Yrsu @ 3894 - fafi Ader oI zfte A avq oI oIS [a€rRIel o1él 8l Amer 8 ?
[Question ID = 1240][Question Description = S2_qSNz_PG_GP16_Q30]

1. Nirvikalpaka Pratyaksha/feifdfeeue geagt [Option ID = 4957]
2. Savikalpaka Pratyaksha/fd@eus® geast [Option ID = 4958]
3. Samanylaksana/mreueigor [Option ID = 4959]

4. Yogaja/=erst [Option ID = 4960]

Correct Answer :-
e Nirvikalpaka Pratyaksha/forffascus geerer [Option ID = 4957]

26) A spreadsheet is

Tsofic 3 -

[Question ID = 1241][Question Description = S2_qSNz_PG_GP16_Q31]
. One-dimensional table or grid/ve® - fdefier aiferat = Bfs [Option ID = 4961]

. Two-dimensional table or grid/fg - fasftr aiferesr @ 35 [Option ID = 4962]

. Three-dimensional table or grid/f - faefler anferer =n Bfs [Option ID = 4963]

. Four-dimensional table or grid/aqg - faufter aferat = s [Option ID = 4964]

A W N -

Correct Answer :-
® One-dimensional table or grid/v® - fdefizr aiferor =n Bfs [Option ID = 4961]

27) In electronic banking, ATM stands for

soraciford Jfepst & der 3 © & U BT YA olF a1 3 ?

[Question ID = 1242][Question Description = S2_qSNz_PG_GP16_Q32]
1. Automated Transfer Money/sifididRs giiw2 sl

[Option ID = 4965]
2. Automated Teller Machine/sifciaics ecrz Fofter

[Option ID = 4966]
3. Automatic Transfer Machine/siicliifes ¢eiw2 atofior

[Option ID = 4967]
4. Automatic Transfer Mode/siidafes ¢jeiw: #is

[Option ID = 4968]

Correct Answer :-
e Automated Transfer Money/siiclaics ¢iaIw2 doft
[Option ID = 4965]

28) Which of the following is a disadvantage of laptop computers in comparison to desktop computers?

3¥peia BIRIeA B getolt i Auciu darpel & fororferRaa 3 3 dlet 2l v ot 3 ?

[Question ID = 1243][Question Description = S2_qSNz_PG_GP16_Q33]

It has no trailing wires/s@i @IS ar formet ofdl & & [Option ID = 4969]

It has lower power consumption/s@i fdsieft 6t 2aud @ ardt & [Option ID = 4970]

It is lightweight and self-contained /s3I asiol @ & & 3l A8 Jaa: guialar & [Option ID = 4971]
It is easier to break or steal/s3 disern a1 gRiel 3iRIe 3l & [Option ID = 4972]

A WN -

Correct Answer :-
® |t has no trailing wires/sd @I$ ar forwal o8l 381 3 [Option ID = 4969]



29) Which of the following statements are correct?

A. Laser printers use dry ink

B. Unlike dot matrix and inkjet printers, laser printers do not use ink when producing a document
C. Laser printers use the property of static electricity

D. Laser printers produce ozone gas and tiny toner particulates in the air

Choose the correct answer from the options given below

forsotferRaa aerell @ smemR R fRar Hifsme :

A. o YRl 3 oI =1dl @1 SuRiieT b Sirr @

B. Sic afea=t ik swpale fjcl @ fRudla dior el 3 crardst TR B FERI RS BT IURIEI o1l fop=n sirar 3
C. &R fjcrl 3 fore Rer fga &t faoraar/sr o1 gRIeT diar 8

D. cieR ffer ary 3 3iisilel 313 3R o @ JgH DU IcUool DT &

SWRfTH 3 3 Blet A1 / A BT I8 T ?

[Question ID = 1244][Question Description = S2_qSNz_PG_GP16_Q34]

. A, B and D only/dact A, B siiz D [Option ID = 4973]
. A, Cand D only/aaet A, C siiz D [Option ID = 4974]
. B, Cand D only/dact B, C siiz D [Option ID = 4975]
. Aand C only/daer A siiz C [Option ID = 4976]

A W N -

Correct Answer :-
e A, Band D only/aact A, B 3iiz D [Option ID = 4973]

30) Given below are two statements
Statement I: DRAM consists of a number of transistors and capacitors
Statement Il: DRAM needs to be constantly refreshed

In light of the above statements, choose the correct answer from the options given below

il ol el feu srw 3 ¢

el - | @ 9 3R © va @ 361 gifdRes 3z denfy (Dubic:) alaka aa 3
@erel - || : 31 3R T wa Bl IR 2B 9rdmol &l ragddr aidl 3

JURITP Dol D 3Tl 3, ol fGu s1u fameul # A 8 3= @1 =61 HifSte &
[Question ID = 1245][Question Description = S2_qSNz_PG_GP16_Q35]

Both Statement | and Statement Il are true/wmerer | 3ii |1 Gloil e & [Option ID = 4977]

Both Statement | and Statement Il are false/aemr | 3iiz || Gleil sRiI1 & [Option ID = 4978]
Statement | is true but Statement Il is false/memwe | 311 8, fbog @eret |l sRicr & [Option ID = 4979]
Statement | is false but Statement Il is true/emr | sRI @ , fbog et |l 3= & [Option ID = 4980]

A WN =

Correct Answer :-
e Both Statement | and Statement Il are true/aermr | 3iiz |l Slelf 31 & [Option ID = 4977]

31) According to Niti Ayog's SDG Index (2019-20), which among the following states is the best performer in the attainment
of SDG-5 (Gender Equity)?

siifer 3MRMPT & wSish Jawmicd (2019 - 20) @ RIR, WISk - 5 (SiffTe AaroIan) gra ool # forgeiferlRaa 3 A fopa s a1 ygolar ad9to
37

[Question ID = 1246][Question Description = S2_qSNz_PG_GP16_Q36]
Kerala/a@3ct [Option ID = 4981]

Himachal Pradesh/faract ygeor [Option ID = 4982]

Sikkim /Bifersar [Option ID = 4983]

Goa/siar [Option ID = 4984]

A WN -

Correct Answer :-
e Kerala/dact [Option ID = 4981]

32) Protection from Ultraviolet Radiations as envisaged under the Montreal Protocol also contributes to following SDGs

difocarer QIA@ia 3 6l 918 uldaeuett @ 3IGRIR URIHeToll fafes2ur A Jzgvr fowafeRaa 3 A fopar v 31 Sit 3 oft Aecrer e 3 ?
[Question ID = 1247][Question Description = S2_qSNz_PG_GP16_Q37]



SDGS 3, 11, 14, 15/wx €t st 3, 11, 14, 15 [Option ID = 4985]
SDGs 10, 16, 17/wa st st 10, 16, 17 [Option ID = 4986]
SDGs 4, 5, 11, 17/wx €t st 4, 5, 11, 17 [Option ID = 4987]
SDGs 8, 10, 12/wx st skt 8, 10, 12 [Option ID = 4988]

A W N -

Correct Answer :-
e SDGS 3, 11, 14, 15/wa &t skt 3, 11, 14, 15 [Option ID = 4985]

33) Among all recorded species in the world, India accounts for about

fara 3 Rrs &l o1 218t geuferil 3 A aRd 3 ceneT fbdeil yenfer 37

[Question ID = 1248][Question Description = S2_qSNz_PG_GP16_Q38]
1. 7-8%/7-8% [Option ID = 4989]

2. 10-12%/10-12% [Option ID = 4990]

3. 15-18%/15-18% [Option ID = 4991]

4. 20-25%/20-25% [Option ID = 4992]

Correct Answer :-

e 7-8%/7-8% [Option ID = 4989]

34) In respect of Biochemical Oxygen Demand (BOD), the permissible Indian standard for discharge of treated effluents in
Inland Surface Waters is

SIaRRIRIfoI® sifafistor #ieT (f s 3t) & Zder d, oNfera afd:3yra @1 sroa:FerciR AL SieT A Sisal @ fere sl HAeI a=m 3 ?

[Question ID = 1249][Question Description = S2_qSNz_PG_GP16_Q39]
1. 5.0 mg/L/5.0 Bep/ <t

[Option ID = 4993]
2. 6.0 mg/L/6.0 fp./ et

[Option ID = 4994]
3. 15.0 mg/L/15.0 e/ ft

[Option ID = 4995]
4. 30.0 mg/L/30.0 fep./ <ft.

[Option ID = 4996]
Correct Answer :-
® 5.0 mg/L/5.0 Bwey./ cft.
[Option ID = 4993]

35) Which type of power plants uses the least land per unit of GWh energy production?

o goor @ fgga FRiq yfar soré sfienare et (St secx war) Seif Seurcet @ fere Al wa Yfd a1 IWRAPT B3 & ?

[Question ID = 1250][Question Description = S2_qSNz_PG_GP16_Q40]
Wind/uaet [Option ID = 4997]

Coal/orren [Option ID = 4998]

Solar/=iiz [Option ID = 4999]

Geothermal/gardzr [Option ID = 5000]

A W N -

Correct Answer :-
e Wind/uaat [Option ID = 4997]

36) Which of the following are the major recommendations of the NEP-2020 related to higher education?
A. To increase GER from 26.3% to 50% by 2035

B. Establishment of world-class universities

C. 'Light but tight' regulation by a single regulator for higher education

D. Promoting research in science and technology

E. Opening of 1500 more universities

Choose the correct answer from the options given below:

Got $ di - 2020 3 S {18 @ JAdier 3 forgsiferi¥aa 3 A wlor Al yggza Rawifedi & ?
A. Siigs3mz @t 26.3% A s 2035 ao 50% oo
B. faea - Fadi feafdencri & Femuen



C. Ica foren @ foru uavel RAIPRIIG ERI 'gcwl g R (clise ac erse)’ fAforria
D. fasirer siiz Gienf3rht 3 ofier ot agrar Solt

E. 1500 3iiz freafdencrn wieron

ofi o s1u feseal & A A8 IR BT wRI6l BT :

[Question ID = 1251][Question Description = S2_qSNz_PG_GP16_Q41]

A and B only/@qet A siiz B [Option ID = 5001]
A and C only/@aa A siiz C [Option ID = 5002]
B and D only/dqct B siiz D [Option ID = 5003]
D and E only/@aet D siiz E [Option ID = 5004]

A W N -

Correct Answer :-
e A and B only/daet A siiz B [Option ID = 5001]

37) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Choice-based Credit System (CBCS) is adopted out of the need for flexibility in the education system so that
students, depending upon their interests and aims, can choose interdisciplinary, intra-disciplinary and skill-based courses.

Reason R: The majority of Indian higher education institutions have been following a marks or percentage-based evaluation
system, which obstructs the flexibility for the students to study the subjects/courses of their choice and their mobility to
different institutions.

In light of the above statements, choose the most appropriate answer from the options given below

ofl Jl Berel fRu sre 3@ up sifdraperst (Assertion A) @ u 3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :

aifdrperet (A) : forem yurreht 3 crcficiaet &l HieT @I &=aTo1 3 3 gu ey - snenfya @ fFeyurrell (it <t 2l w1) @I srueirn 3 aifes s1q ruoft
AMIBRRI 3R 329dl D IIGRAR iR - fAwRID, A fIwRIP 3R Dl menfsd UGGl DI TRl B2 AD

®RUI (R) :4rda 3 siferaier I forgn Hzemu sics AT gferera snenf¥a Feaiael Yulrcll ol reurciol @ 3 3 ; RRRI Bl @I vl uic & eIl
/ FiFensii @ &k Jordl srfergfierar 3 crciiciuct 3 aren 31l 3

SURITb ol D 3Iclid #, ofld fGu famcdl 3 A 73 3a= &1 wrRIel Hifsre :
[Question ID = 1252][Question Description = S2_qSNz_PG_GP16_Q42]

1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) clali 3@l 8 3z (R), (A) &1 3@t carn & [Option ID = 5005]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) cleil 2 & ueoq (R), (A) &t & =m=n ot 8 [Option ID = 5006]
3. Ais correct but R is not correct/(A) 3@t 8 w3oqg (R) 3@t a8t & [Option ID = 5007]

4. A'is not correct but R is correct/(A) 3@ sét 8 weeg (R) ;& & [Option ID = 5008]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) Slil 3t 8 3z (R), (A) &t 3d caeen 3 [Option ID = 5005]

38) Nalanda was established in
siIcict &l FeIruelr od g$ ot ?

[Question ID = 1253][Question Description = S2_qSNz_PG_GP16_Q43]
2nd century/ gt erisdt [Option ID = 5009]

. 3rd century/ddt errect [Option ID = 5010]

4th century/<itelt errsdt [Option ID = 5011]

. 5t century/uiadt erarsdt [Option ID = 5012]

A W N -

Correct Answer :-
e 2" century/ggst et [Option ID = 5009]

39) Arrange the following states in descending order in terms of GER (Gross Enrollment Ratio) in higher education.
A. Tamil Nadu

B. Kerala

C. Uttarakhand

D. Sikkim

E. Himachal Pradesh

Choose the correct answer from the options given below

Jea 11811 3 el oIl 3opard (it $ 31R) &l zfte A foaifeiRaa ==l @ rRIE gt 3 3= ©
A. aif¥retorrg



B. @5

C. IRravs

D. Riftrpa

E. RBumerer ggor

ofid o s1u fasedl & A A8 IR BT wRI6l BT :

[Question ID = 1254][Question Description = S2_qSNz_PG_GP16_Q44]

1. A, B, D, E, C [Option ID = 5013]
2. B, A, D, C, E [Option ID = 5014]
3. B, D, E, A, C [Option ID = 5015]
4. D, A, E, C, B [Option ID = 5016]

Correct Answer :-
e A B, D, E, C[Option ID = 5013]

40) 'Deemed to be University is established by

‘Stos frafdencrr’ &t Fenuer feaads grI & siredt & ?

[Question ID = 1255][Question Description = S2_qSNz_PG_GP16_Q45]

An act of the Parliament/3iic @ siféiformr grr [Option ID = 5017]

An act of the state legislative assembly /s fderet 219m @ aiferformer grr [Option ID = 5018]

A notification of the Central Government on advice of the UGC/3Sft3ft. @t Jretis ue dog 2RdR o siftRae grr [Option ID = 5019]
A notification of the UGC on the advice of the State Government/3sa JR®R &I Aciis W Y Sh 2. & siferyaen grr [Option ID = 5020]

A w N =

Correct Answer :-
® An act of the Parliament/3izic & sifétforwpr grr [Option ID = 5017]

Topic:- GP_24NOV_SH2_C

1) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.

forgaiferRaa srerior ol earegde® ue 3R Yool & 3R

HIAICHD A DI JMAEMRVI AT &I D ASPIRI D IHERIoI A 3 8 f[boq HIAIHD 9P PPl YD ASPIR D e grifdie 3 smue! gdtsm
34 3 DA A DA A UL AT 3 b 3 3ruol AspiIRdl D AT 1Orce RasR B3 3iiR fALuYUi *IasR of B3 Il olldl ad IcUool 2l 3 S
watenf¥il ot fopfl srraol @1 ygfdfa ween usdr 3 Safds & DI gAst Mol AEPA D2 B A 3 A6 fARAsIRT siidelicard faRieIfr waadl 3 3iiz aB
Fared @ fere IforpR® 3 Al 3 ©ol, Be 3R AW B THA HIG6IT A IiAd: HIAIHD UDBIel Bl 3 312 AP HIAGIcHD FU A ¢ Sl 3
IAoIIcID faRisIfer FsTolcards s & aret 3, RrarT sad b siacicas farisifer fRider @5 asIrRT siraotisil A HdfenT aidl 3 yandl orf
forsurcer @ U YA Heds @ HU I HIG6IHD 9JF 3 HIdaIIsil Bl YrRIfSIasdr o) 3 SIIdl 3 MIdolicdd 9P wafanf¥il & ferg gfrenm Scusst
DIAI S MUDI TA cllvll D AT PIA Dol TSl 3 3168 MU fderaget uRic ol @l & 3l ADdI 3, 31U Iold RAfebed I aadf Aol 8 3
APl & b 3 A6 Sireld 3l fb 3osiol MU Ulo UIS MU R 3 GIPRICHAD dld Pl 8 3D dIA9IS, Ul ASPIR &I MR 3MUD! S0l cliell B
AT ORI MER UR iR @ofl usdl & sAfcie snuwml g ol fCwarar w6l usdl & fadume, Al MU HIGGII3Il DI 3of3i HITGII3II AT
yefofa siraeinail 3 31ereT1-31cPT @2 AD Al 3R U] 36! ASPIR I ASRIAI Biet Adell 3 31elyd HIdeld aftp &l ar«afde g el 3
s fadia, ygfdfa siraom a 3idl 3 Riod I isiool fepeil BRI 19y @ fore watanf=il grRT yefdfa fepu siet & sragn waar 3 sz 368 3fra
HAlolel 3 4 siafeifdea sraed o181 el T ; a M=dl o1 sraeld Bl 3 521 ymor &1 3 A arfrviorn st sirord 3 fob g3 bl cafp @ siferar
Ji¥orR A g Yoidia et & sren &l il 3, 91ct 8t 3ot 3A cAftp 6 o DI U Sifel Aol AT of Aol d2T INEI-IFHRIE A YAool xTor HY
g bl Sl 3, et 8 591 YRIooldl A D3 AT of DI 91N AB S9Iid 3 b DRI Ferel R s g & Sl 3 b s AIGRIA: gRisordr 3R



AT SR APRICHD HIAl DI Ygfdfa ol anfdu qerr srI, @lel, Siiel 3R IHIIel SI SIPRICHD HIdl DI SR Dol aIfsy

The basic principle of emotional labour management is:

SIGIICID 9T Jaeral I gforict Rigia 3 ©

[Question ID = 1256][Question Description = S2_qSNz_PG_GP16_Q46]

Be less hostile to other employees/ steer defanf¥=ii @ yfer war fagw aaem [Option ID = 5021]

Entertain only limited interaction within the organization/ieser @ sfiar dact ffdr sid:fipzr @on [Option ID = 5022]
Be polite to co-workers/3s®ffd @ yfer fdewy 2@er [Option ID = 5023]

Do not show your frustrations/smsft @oisil @t yafsia of wzer [Option ID = 5024]

A w N =

Correct Answer :-
e Be less hostile to other employees/sieer wafaif¥i @ yfer war fagw 3xaem [Option ID = 5021]

2) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.

forgatferRaa srerior ol earegde® ug 3R Yol & IR &

HIAICHD 9 DI AAEMRVIT AT &I D ASPIRI D HERIoI A I 3 [boq HIaIHD 9P PRI YRID ASPIR @ e yrifdie 3 smue! ydesm
3T A A A DA AT UL WA 3 5 314 31uel AsbRR & 212 fAre RIasr &3 3R fRIguyYf *Iaer o &3 el gollddl ag Icusd 3Xdl 3 s
pafenf¥=il ol ol sirdon @1 ygidfa men usdar 3 Siafds d @I g3l HIdell #e3PA @2 1B Bld 3 A8 faRisIfa siaeica® faisfer waardl 3 il a8
Farea @ fere siformrRe 8l Admdl 3 o1, Der 3iIR AW B T HIdel A 3iAd: HIGCIHD ABIol BNl 3 iR AP HITeIHD SU A ¢TSIl 3
HIdolIcIHD fARisIfel JsTIolcd isifer & Weimel 3, Riar s3d b saeiicae faeisifa Ride @ a=IrRI siraona3il A A« aldl & yaidl ort
forsurGer @ U YA fHed @ FU I MIGoIdHD 9JF 3 HTdeIIsil Bl YRIfBIasdr o1 A SIIAl 3 MIdolicdd 9P walani¥il & fore gfdrenm 3cucet
DA 3 MUD] VA clivll D AT DI Dol Usdl 3 RIed 31ma frerpet URic ofél @ 3 3l Addl 3, 31U Jold RAftbed ol sruerdl s 3 31
Awdr 3 35 31U UG Siiold 3t {5 3osiol smud i Wi ud> aR 3 oIPRICAD dKd Bdl 3 $AD FIASG, Ul ASPIR Bl FR MUD! ol vl B
1 forafdre smeR uR iR ofl usdl & safere suwl didisira ol fCwarar ol usar & fa9ume, Al U HIGGIIsil DI 3Tof3i HITGII3il AT
Yo il HIaeirsil 3 3IcTaT-31c1eT @2 AD dl SR MUDI Ul ASPIR 3 ABRIAT f31cT Al 3 3Mo3d HIGGIE RAftp Pl arAfd® HIdeI dlcil &
s f[qudia, ggfofa sraeu a sicl & 168 DI 2is1o0 [dbil BRI fady o fere wefanf¥il wr1 ggfdia fipu sirer &t srdgn 2xar & 3iiz 3sa 3k
Hloldl 3 d 3iafoifda siraoie o1&l 8l & ; d il o1 sirqolE Bicdl 3 3l YR & 3 A SUDIN clivT Silold 3 b s 2l cafep o siferar
JrorR A g goldia et & srisn &l st 3, 91cr 8t 3o 3A cafes B F DI U Sifel ATl AT of Aol 2T INSH-TARIE A Yool xTor BY
e bl Siredl 3, 91ct & 591 YRIooldl YA D3 AT of DI 91N AB GoIid 3 b PRI Ferel uR A6 e 6 Sl 3 b s ABIGRIA: gRisoldr 3R
AT S APRICHD HIAl DI Ygfdfa mdol anfdu qerr srI, @lel, siiel 3R IaeIIel SIA SIPRICHD HIdl DI SR DBl aIfsy

Within an organization, emotional dissonance affects

fop=il ioroa # siaeticores faeieifar fopt yanfaa @l 3 ?

[Question ID = 1257][Question Description = S2_qSNz_PG_GP16_Q47]
. Cognitive consonance /3=l 3igeudr [Option ID = 5025]

. Effective job performance/qsid! @rf foruger [Option ID = 5026]

1
2
3. Solutions to labour issues/gpt 3jgt @1 @menst [Option ID = 5027]
4. Constructive thinking/>deircare fRider [Option ID = 5028]

Correct Answer :-
e Cognitive consonance/ =it 3foReudr [Option ID = 5025]

3) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.



At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.

forgaiferRaa srerior @l earegde® ue 3R Yool d 3R ¢

SIIAIcAD A DI ARV AT &I D ASPIRI D 3ERRIol A IR & fPoq HIAKHD 9JFH PBFI YRID ASPIR @ 018 gRIfSIe & MU Yatm
34 A DA A DA A UL I 3 5 34 3rual AsHRRI D 212 fore RIasr @3 3k fRIguyYf *Iaer o & A<l golldl aq Scucd 3idl 3 s
patenf¥il ot fopfl sraolr @1 ygfdfa wen usdar 3 Siafds & DI gAst el AEPA B2 W B 3 A6 fARisIfeT siidolicar faRieIfr waacdl 3 ik as
FareAa & fore sIfoldR® &l AADdl 3 @ot, DIer 3z AT B} T HIdol A AcAd: HIACIHD ABTol Bl 3 3T AR HIdolcdd HU A ¢ SIIdl 3
IAGIIcIHD faRisIfel FsTIolcards fRisIfr & aImet 3, RrarT s3d 6 sidaeicars farisifer Rider @ asIrRI siraeiiail 2 HdferT 3kl 3 yandl orf
forsurcer @ U Y Heds D HU I HIGGIHD 9JF 3 HIdeIsil Bl YRIfSIasdr o) 31 Il 3 $Idelicdd 9P wafanf¥il & feru gfren Scuset
DI MUD] YA clivll o AT DIH DIl Usdl 3 RI6d 31U frerapet Uic offl @ & 8l ADdI 3, MU Jold RAftbed ol suadl arera 3f 31
Al & b 31U A6 Sireld 3 b Iosiol MUD Ulo UIS MUd dR I GIDPRICHAD dlid Pl 8 3D dIA9IS, Ul ASPIR DI MR 3MUDI Fol clivll B
A1 foraf3re 3meR UR 3ier: R ool usdl 8 safere smu! Jicisura oI fSarar ol usdr & faume, AfS ra HIaolall I 3rol3fe HITdoeII3il AT
Yoot sTacInail 3 3IcIoT-31e1oT W2 AD Al IR MU UG ASPIR 3 ASRIAT firer Tl 3 31eI3d HIdeIU saftp &I arafde saens Bidl 3
s [adia, ygfdla siraomd a 3idfl 3 Riod I isroo fepil BRI 19y @ e watanf®=il gRT yefdfa fepu sier & sragn 3wdar 3 sii 363 3fra
HAlolcl 3 3icfeifdea sraed o181 2l T ; a AMi=dl o1 sraeld Bl 3 s yor & A A aiferoior oist sirold E fob s bl cafp @ siferar
JI¥oR I g Yoidfa et & sren 6l sl 3, 91cr 8t 3ot 37 cAftp 6 g DY U Sifer Al AT of Aol d2T INET-IARIE A Yool RxT0r HY
UG DI Sl 3, 91c1 & 8 YRIooldl A D2 AT of D2 9N A g9l 3 b PRI Feredl u= A6 e bl Sl 3 b 391 AATeRIA: YRIooldr 3iiR
IS SN ADRICHD HIdl Dl Ygfdfa do anfdu aem sr1, dmler, giisd iR Adrel Sid oIbRICHD HIdl DI Gl Dol a3

In a workplace environment, labour managers should give preference to:

DRI FeIdl @ ardra?vT 3 9T Yderml @i fostfaiRaa 3t 2 s grefdrsar Soft anfdu ?

[Question ID = 1258][Question Description = S2_qSNz_PG_GP16_Q48]
1. Displayed emotions/ygfefa smaetaii @1 [Option ID = 5029]

2. Felt emotions/smojste sirdeirsii o1 [Option ID = 5030]

3. Negative emotions/si®RIcrd smaeisii @l [Option ID = 5031]

4. Expressions of frustrations/@orsii &t sifdreifep @t [Option ID = 5032]

Correct Answer :-
e Displayed emotions/ygfsia smaetsii @t [Option ID = 5029]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees

DepartmentsTotal NumberRat]0 Total Number Ratio

M F F
IT 250 1 |1 |240 2 1
lAccounts 123 2 1 130 3 2
HR 90 3 2 (30 2 1
Marketing (350 5 |2 343 5 |2
Production [304 5 |3 [351 5 |4

fogotfeiRae srerior @l earegde® ug 3R Yesil @ IR &
SIIAIcHD A DI ARV AT &I D ASPIRI D 3MERIol A IR & [Pod HIAKHAD I PBRI YRID ASPIR D 018 gRIPID & 3MudI Ydern



MU A B A DA AT UL WA 3 5 34 31uel AspRRI & 2mer forse RIasr &3 3R Uyt cIaer o &3 1<l gollddl ag cucd 3Xdl 3 s
pfaiRIl ol fpdl Hrdel ®l yaidia ool usdr 8 Safs d IS g3l HIdel ABJIA D2 W BId & As faRieIfe sdeicaAd feRisIia wacrdl 3 3R a8
AR D fe1U BIfolPR® Bl ADdl & BT, MU 3R AW DI TRA Il A iddd: HIAEIIHD ADIol Bicil 8 312 RFTD HIdelcdD BU A ¢ Sl &
SIIdGIIcHD fAiIfel Jsielcas faRisIfar @ e &, Riart s & sirdelrcare fisifar Rider @ a=IRI siraonsil A Jdfera axdt 2 gandt ort
forsurGer @ U YA Hed @ FU I MIGeIHD 9JF 3 HIdeIIsil Bl YRIfSIasdr 1 A SIIdl 3 MIdolicdd 9P wafani¥il & forg gfdrenm Scucst
DIAI S MUDI VA clivll D AT PIA Dol TSl 3 f31os MU fdcraget uRic oél @l & 3l ADdI 3, 31U Iold RAfebed bl aadl Alold 8l a1
Awdr 3 35 31U Az Siield 31 {5 3ozl smud i WD 3uds aR 3 oIPRICAD aKd Bdl 3 $AD FIASG, Ul ASPIR Bl FIR MUD! ol vl B
A1 forIfdre smeR uR iR ol usdl & sfere snuwl ddisra ol fwarar ool usar & fa9ume, Al MU HIGGIISIl DI 3oL HITGII3Il AT
Yo il HIaeIIsil 3 3IcTaT-31c1eT a2 AD dl SR MUDI Yol ASPIR 3 ABRIAT f3cT AdDdl 3 o3 HIGGIU RAfTp Pl dRAfI® HIGeIE Bl &
s f[qudia, ggidia srraenu d sicl & 18 DI Hs100l [dhil BRI fady o fere wefani¥=il $rR1 ygidia fpu sirer &t srdgn 2xaar & 3iiz Isa 3fka
JATGIAT 3 A 3icfolfda siraeie o1l aXeit 3 ; d 2t o1 siaom© Bt & 32t YR & 31 A 3if2repion clist Sireld 3 b 3aRY b=l caftp & sifersr
Jror A g Yofdia wzer & srisn &l il 3, 91ct 8t 3o 3A cAfes B P DY U SIfel Aol AT of Aol AT INET-TARIE A Yool xTor B
e <bl Siredl 3, 91ct 8 91 YRIooldl AP D3 AT of DI 9 UG G9Iid 3 b DRI Ferel R s e 6 Siedl 3 b a9 ABIGRIA: gRisoldr 3R
AT SR APRICHD HIAl DI Ygffa doll anfdu qerr srI, @lel, Sl iR IaeITel SI SIPRICHD HIdl DI SRId Dol aIfsy

Which of the following feelings one should feign at a workplace?
A. Fear

B. Excitement

C. Contempt

D. Happiness

Choose the correct answer from the options given below

orI Ferer R fopfl cafts @ fowerferRaa 3 3 Plet 2l srraorsii @1 farar wen aifdu ?
A. s

B. Scars

C. srqaret

D. gzicorar

il f3u a1 fyaseul 9 A W& 3= goi ¢

[Question ID = 1259][Question Description = S2_qSNz_PG_GP16_Q49]

A and B only/dact A siiz B [Option ID = 5033]
B and C only/a@act B siiz C [Option ID = 5034]
C and D only/daet C sfiz D [Option ID = 5035]
B and D only/dsaet B siiz D [Option ID = 5036]

A w N =

Correct Answer :-
e A and B only/daet A 3iiz B [Option ID = 5033]

5) According to the passage, effective emotional labour management involves :

STEN9T B 3eAR, Il HIdeIcHD Y Yserol 3 o= Afdafera siar 3 ?

[Question ID = 1260][Question Description = S2_qSNz_PG_GP16_Q50]

1. Acceptance of emotional dissonance/siaetcaies faisifer bt sdiapriar [Option ID = 5037]

2. Free expression of feelings of frustration/gort &t sdeiaii &t 7jep aifdreafes [Option ID = 5038]
3. Display of friendly emotions/didiqu straomaii @1 geeler [Option ID = 5039]

4. Sidetracking the learned emotions/ftxdt s smraomaii @t urd 3 36 [Option ID = 5040]

Correct Answer :-
® Acceptance of emotional dissonance/siraetcaes faisifer &bt >dfiarfar [Option ID = 5037]

Topic:- 24Punjabi Set1_A

1 3
) IR € HBII TT T5:

(1) fe395, 39 3 a9= (2) fe39s, wde 3 faars
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(3) fe39s, Se-EUTT I OW (4) fe393, 39 T ored=T

[Question ID = 1611][Question Description = Q01_24Punjabi Set1_A]
1 [Option ID = 6441]
2 [Option ID = 6442]
3 [Option ID = 6443]
4 [Option ID = 6444]

A W N -



Correct Answer :-
e 1 [Option ID = 6441]

2) iz T wroeres 33 95
(1) g, gy, fefsom, fefmrs (2) F&, IHUE, Usd, THE
(3) gdt, g7, AW, Rat (4) @ua, IE, AW, Hafefams

[Question ID = 1612][Question Description = Q02_24Punjabi Set1_A]
1. 1 [Option ID = 6445]
2. 2 [Option ID = 6446]
3. 3 [Option ID = 6447]
4. 4 [Option ID = 6448]

Correct Answer :-
e 1 [Option ID = 6445]

3)
fesz T a= T
(1) fea fog =& ot fug 3 wrfsw us (2) omaw 3 RigSor &t wdtET dnart
(3) westEr 3 FEE Y= @ A9 (4) fonmst, weor 3 on = firs

[Question ID = 1613][Question Description = Q03_24Punjabi Set1_A]
1. 1 [Option ID = 6449]
2. 2 [Option ID = 6450]
3. 3 [Option ID = 6451]
4. 4 [Option ID = 6452]

Correct Answer :-
e 1 [Option ID = 6449]

Afos-fefmms T = 8

(1) Aoz = fefamrsa AT nisAe fereme
(2)  feforrsa foust feg mfofaa W &t €t
(3)  mfaz wiftois € fefamrse wse & Srst
(4) fefmrs T mrfaz o IEa=HE niftpils

[Question ID = 1614][Question Description = Q04_24Punjabi Set1_A]
1. 1 [Option ID = 6453]
2. 2 [Option ID = 6454]
3. 3 [Option ID = 6455]
4. 4 [Option ID = 6456]

Correct Answer :-
e 1 [Option ID = 6453]

I o4iE = fiTe-as O

(1) 1172 1258
(2) 1173 -1266
(3)  1165—1250
(4  1205-1265

[Question ID = 1615][Question Description = Q05_24Punjabi Set1_A]
1. 1 [Option ID = 6457]
2. 2 [Option ID = 6458]
3. 3 [Option ID = 6459]
4. 4 [Option ID = 6460]

Correct Answer :-
e 1 [Option ID = 6457]

g9le T3 T AN wfes wiftis &9 o6 93 @ Aot 62 O



(1) foms fiw, rIes ffw yser
(2) owds fw g, T i 55
(3) A= ffw /Y, gofiee ffu &8
(4)  F9ves ffu AfdRe, 37, 598
[Question ID = 1616][Question Description = Q06_24Punjabi Set1_A]
1. 1 [Option ID = 6461]
2. 2 [Option ID = 6462]
3. 3 [Option ID = 6463]
4. 4 [Option ID = 6464]

Correct Answer :-
e 1 [Option ID = 6461]

'niEE gy 99 & g4
HeRe HE W9 ff9 &t 71
sRInAEs T U S §

I3 941 79 AET g1

AwIs oY € feR g feo &=t nAes’ = &t I=-nEe T
(1) ANt U ¥% Aas T

(2) mMETE M I T ANST

(3) =fom = ust i

(4) FEAE HEE T AB

[Question ID = 1617][Question Description = Q07_24Punjabi Set1_A]
1. 1 [Option ID = 6465]
2. 2 [Option ID = 6466]
3. 3 [Option ID = 6467]
4. 4 [Option ID = 6468]

Correct Answer :-
e 1 [Option ID = 6465]

TR OGS R efe A T Aes o= |
fer arfe-1ast = 395 T

(1) g "ows == (2) g wiere =

(3) T 5o =% (4) =or =3te

[Question ID = 1618][Question Description = Q08_24Punjabi Set1_A]
1. 1 [Option ID = 6469]
2. 2 [Option ID = 6470]
3. 3 [Option ID = 6471]
4. 4 [Option ID = 6472]

Correct Answer :-
e 1 [Option ID = 6469]

%) oire  fiR fe dts Shr RIS 9t freTt 3
(1) 60 (2 16
(3) 360 4 24

[Question ID = 1619][Question Description = Q09_24Punjabi Set1_A]
1. 1 [Option ID = 6473]
2. 2 [Option ID = 6474]



3. 3 [Option ID = 6475]
4. 4 [Option ID = 6476]

Correct Answer :-
e 1 [Option ID = 6473]

"t faAT-rrfog Ae9s a8 Aued O
(1)  ge= fu fifg

(2) gt i

(3 s i

(4) faean fiw uz

[Question ID = 1620][Question Description = Q10_24Punjabi Set1_A]
1. 1 [Option ID = 6477]

2. 2 [Option ID = 6478]

3. 3 [Option ID = 6479]

4. 4 [Option ID = 6480]

Correct Answer :-

e 1 [Option ID = 6477]

Aez ot 79 9 feadt fuer o
(1) feam-woa niE vs &9 (2) TS o i T W
(3) Tt ¥E »E TEs-ST-T (4) ==s 7O S HIHE F9

[Question ID = 1621][Question Description = Q11_24Punjabi Set1_A]
1.1

[Option ID = 6481]
2.2

[Option ID = 6482]
3.3

[Option ID = 6483]
4. 4

[Option ID = 6484]
Correct Answer :-
o 1

[Option ID = 6481]

D) oo wiam wiaAr de 98 @ aoA & Pt & ofaw @ 59D femw = o A
(1) =94 TAs Ao (2) ¥3 fiw AT
(3) =3 fig (4) foms fifw

[Question ID = 1622][Question Description = Q12_24Punjabi Set1_A]
1. 1 [Option ID = 6485]
2. 2 [Option ID = 6486]
3. 3 [Option ID = 6487]
4. 4 [Option ID = 6488]

Correct Answer :-

e 1 [Option ID = 6485]

forast Aor Andt 3 'GoEga T FoH AT @ orftmr AT 37

(1) I % T AGH At (2) At figaas T 75K At
(3) gret fadt 9 7 JeEhr TE AN At (4) uT=s AoH Anft

[Question ID = 1623][Question Description = Q13 _24Punjabi Set1_A]



1 [Option ID = 6489]
2 [Option ID = 6490]
3 [Option ID = 6491]
4 [Option ID = 6492]

A w N =

Correct Answer :-
e 1 [Option ID = 6489]

4) Hoardt URret @93a 990 'fimrs I3a=d o 8y O
(1) st Wat fifw (2) FE HITR
(3) niEEET (4) T F@r

[Question ID = 1624][Question Description = Q14_24Punjabi Set1_A]
1. 1 [Option ID = 6493]
2. 2 [Option ID = 6494]
3. 3 [Option ID = 6495]
4. 4 [Option ID = 6496]

Correct Answer :-
e 1 [Option ID = 6493]

ufgea3s a5 © T93F-J91SnT & Aot 6¢ O

(1) woo I fe&dt- ot Hos fiu &=
(2) It <9 fRw- 39

(3) It @y fiw &797- It How i &T
(4) faodt o ySt- 7= gu i

[Question ID = 1625][Question Description = Q15_24Punjabi Set1_A]
1. 1 [Option ID = 6497]
2. 2 [Option ID = 6498]
3. 3 [Option ID = 6499]
4. 4 [Option ID = 6500]

Correct Answer :-
e 1 [Option ID = 6497]

16)
'TIIF T TISF HOI' URSH T II3T I
(1) i3 e s @) TS s
(3)  Higeeus fifu STst (4) ¥He fify fig

[Question ID = 1626][Question Description = Q16_24Punjabi Set1_A]
1. 1 [Option ID = 6501]
2. 2 [Option ID = 6502]
3. 3 [Option ID = 6503]
4. 4 [Option ID = 6504]

Correct Answer :-
e 1 [Option ID = 6501]

HE® a9 ©f wirofad UATEt afesT & iy feimsT 9:

(1) feruse uATgT & dEaSt

(2) fermste=t 3 waroga s=-ydy

(3)  wiftrirsHE AU T HUTITEL WET

(4) yErstts 3 feeadt = &t Ugarst

[Question ID = 1627][Question Description = Q17_24Punjabi Set1_A]
1. 1 [Option ID = 6505]

2. 2 [Option ID = 6506]
3. 3 [Option ID = 6507]



4. 4 [Option ID = 6508]

Correct Answer :-
e 1 [Option ID = 6505]

FEt e ffw &t arfe-feret = wroe oemsm O

(1) »rofes 5 3 dies fedt

(2) Ay gow, fefsom 3 zone oo fors
(3) oafiE I35 T use-SE

(4) et S@-33or & arfea UEerdt

[Question ID = 1628][Question Description = Q18_24Punjabi Set1_A]
1. 1 [Option ID = 6509]
2. 2 [Option ID = 6510]
3. 3 [Option ID = 6511]
4. 4 [Option ID = 6512]

Correct Answer :-
e 1 [Option ID = 6509]

"9 it gre @ e et =T W e B
(1) ErEeTEt afe-uar (2) FHFES afe-oar
(3) gToe= afe-Tw (4) Yot afe-grar

[Question ID = 1629][Question Description = Q19_24Punjabi Set1_A]
1. 1 [Option ID = 6513]
2. 2 [Option ID = 6514]
3. 3 [Option ID = 6515]
4. 4 [Option ID = 6516]

Correct Answer :-
e 1 [Option ID = 6513]

20) FI9E! SfeUa o FISSHE THIIT T g I
(1) fearss 3 foxis3s WY € 3= ©F URarat
(2 Jo-feedo ¢ 3= & afex Umardt
(3) Re-d=fes g & arfed URarat
(4) HEHt UE'E € IpaE ot Jfesr
[Question ID = 1630][Question Description = Q20_24Punjabi Set1_A]
1. 1 [Option ID = 6517]
2. 2 [Option ID = 6518]

3. 3 [Option ID = 6519]
4. 4 [Option ID = 6520]

Correct Answer :-
e 1 [Option ID = 6517]

"arew fer ot vt 3, fAw fem 92 ¥ Aufens 3 @R I ads fefsora uferfastor @ za9€ 3 358 3 &R
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(1) oo ffu d=

(2) Af¥=s ffwzg
(3) A3 fAw A
(4)  #fotes ffw gt

[Question ID = 1631][Question Description = Q21_24Punjabi Set1_A]
1. 1 [Option ID = 6521]

2. 2 [Option ID = 6522]

3. 3 [Option ID = 6523]
4. 4 [Option ID = 6524]

Correct Answer :-



e 1 [Option ID = 6521]

2 a o e foraar e w3
(1) =339 fiw Fom- afoga= (2) w=37 fAw- &2 T W3y
(3)  TSfowrs fifw- o9 finir I3fenr (4) itz 9- €U Aot

[Question ID = 1632][Question Description = Q22_24Punjabi Set1_A]
1. 1 [Option ID = 6525]
2. 2 [Option ID = 6526]
3. 3 [Option ID = 6527]
4. 4 [Option ID = 6528]

Correct Answer :-
e 1 [Option ID = 6525]

Jo fefimp feg faas de At oot 9:
(1) ==z &9- adt 3= (2) nifET YisH- J 359 36
(3) w3 &9- UAS HAZT 4 TSuITFfeem-asfasds

[Question ID = 1633][Question Description = Q23_24Punjabi Set1_A]
1. 1 [Option ID = 6529]
2. 2 [Option ID = 6530]
3. 3 [Option ID = 6531]
4. 4 [Option ID = 6532]

Correct Answer :-
e 1 [Option ID = 6529]

FaE T faaeT 299 ¥9-3F &% AEUS O

(1) Jz, uEs, HiF, Aofoet free

(2) ihit T fonrg, € Swerg guir, Fafodt fasear, I=r

(3) »ER awAE, 53 fies, Gusr Hae, Halt 25

(4) fex 227 g3, nview' fesAs, 39 4O, GO 439
[Question ID = 1634][Question Description = Q24_24Punjabi Set1_A]
1. 1 [Option ID = 6533]

2. 2 [Option ID = 6534]

3. 3 [Option ID = 6535]
4. 4 [Option ID = 6536]

Correct Answer :-
e 1 [Option ID = 6533]

25
) U Aae (1978-1992) &% RS Hw sea & #e Adt 9:
(1) AT feggT, A O arEher (2) wI9, FT=Tal s I
(3) g uStor T o2, nES I (4) =%T FAo® T 9, T4 5o UT

[Question ID = 1635][Question Description = Q25_24Punjabi Set1_A]
1. 1 [Option ID = 6537]
2. 2 [Option ID = 6538]
3. 3 [Option ID = 6539]
4. 4 [Option ID = 6540]

Correct Answer :-

e 1 [Option ID = 6537]

HS=T argdl ¥ 3o '$9T g T YNy °iH 9
(1)  HI= &t IGH = HAT (2) font i Hiswer o fegm
(3) g3 T 8o & imarst (4) fimrs = fevies qu



[Question ID = 1636][Question Description = Q26_24Punjabi Set1_A]
1. 1 [Option ID = 6541]
2. 2 [Option ID = 6542]
3. 3 [Option ID = 6543]
4. 4 [Option ID = 6544]

Correct Answer :-
e 1 [Option ID = 6541]

UfaR3S Uarst sear 2 Adt 42 9:

(1) 3, geT HE

(2) HA®, & 33 Shoff

(3) gaGH, Adiged

(4)  UAW WEMT, $H ASE &9 ot

[Question ID = 1637][Question Description = Q27_24Punjabi Set1_A]
1. 1 [Option ID = 6545]

2. 2 [Option ID = 6546]

3. 3 [Option ID = 6547]
4. 4 [Option ID = 6548]

Correct Answer :-
e 1 [Option ID = 6545]

28

) Ut arfe-ae = wiftmis uRss @
(1) TN 9T TAUS (2) »Fts fiw wisy
(3)  HoHISU® &I (4) w=foze =fos

[Question ID = 1638][Question Description = Q28_24Punjabi Set1_A]
1. 1 [Option ID = 6549]
2. 2 [Option ID = 6550]
3. 3 [Option ID = 6551]
4. 4 [Option ID = 6552]

Correct Answer :-
e 1 [Option ID = 6549]

"I HTET feT HOw AEE ¥ niEg 95

(1) €9 7es 78 F7a T ufos feare &3 A2

(2) €9 Fas FE ef30 a9s 3 amE fearz &izr A< |

(3)  ©u Fus fHE ufanr e sfgamr &z a2

(4) Har =¥ AES

[Question ID = 1639][Question Description = Q29_24Punjabi Set1_A]
1. 1 [Option ID = 6553]

2. 2 [Option ID = 6554]

3. 3 [Option ID = 6555]
4. 4 [Option ID = 6556]

Correct Answer :-
e 1 [Option ID = 6553]

30)  iafy ot &
(1) fex feim fam @ wire |, fAg &% a8t goret AEMS 391
(2)  furt feg fondbt aodor & fem yfifo o, & o= n@s 31
(3) € €z & fai ydar 7 fagsis o Rfow =25 751
(4) fex form yag &t udwt, AR feg =Ag-yEn = faR fea 99 ¥& AaS g9 9, UST F=-y§a oA
dHTEI

[Question ID = 1640][Question Description = Q30_24Punjabi Set1_A]



1 [Option ID = 6557]
2 [Option ID = 6558]
3 [Option ID = 6559]
4 [Option ID = 6560]

A W N -

Correct Answer :-
e 1 [Option ID = 6557]

Fasa g3t fan FE/aTst & 88 3 23 fearet T A:
(1)  »uZ nry feg B39 a4t T

(2)  »ruZE nry o9 AY9s nigg Tuet 91

(3) FeEeg ¥ FEs wils IF Jue T

(4) nmuE wry feg 551 3 At 1

[Question ID = 1641][Question Description = Q31_24Punjabi Set1_A]
1. 1 [Option ID = 6561]
2. 2 [Option ID = 6562]
3. 3 [Option ID = 6563]
4. 4 [Option ID = 6564]

Correct Answer :-
e 1 [Option ID = 6561]

"fAret SaureT niftmis: fefsom 3 Wofgs URsSa & a99 I:

(1) a9 frur

(2) TEAT et

(3) e A fae

(4)  wfoes flu as
[Question ID = 1642][Question Description = Q32_24Punjabi Set1_A]
1. 1 [Option ID = 6565]
2. 2 [Option ID = 6566]

3. 3 [Option ID = 6567]
4. 4 [Option ID = 6568]

Correct Answer :-
e 1 [Option ID = 6565]

ARG nigAs FAET T9979 T

(1) foos = ydag

2) foorders Ao9-ga3

(3) ARG T9ar nigATg yare fedt
(4) fowaefeg 34

[Question ID = 1643][Question Description = Q33_24Punjabi Set1_A]
1. 1 [Option ID = 6569]
2. 2 [Option ID = 6570]
3. 3 [Option ID = 6571]
4. 4 [Option ID = 6572]

Correct Answer :-
e 1 [Option ID = 6569]

34) "gET wrugEs S9omndt yIter v ydn 9, fam It few mefre Ayg Afoder @eer 31" FEs fam g
fefomrat = §7
(1) =% 3o
(2) SRS
(3)  Afrge

(4) =t Andie



[Question ID = 1644][Question Description = Q34_24Punjabi Set1_A]
1. 1 [Option ID = 6573]
2. 2 [Option ID = 6574]
3. 3 [Option ID = 6575]
4. 4 [Option ID = 6576]

Correct Answer :-
e 1 [Option ID = 6573]

fefsore 7 fefomrs & © ayret o5

(1) g 3 €99

(2) fearsa 3 T

(3)  wWElg T Kee I fefors

(4)  WE-z fefors 3 AR I fefamrs

[Question ID = 1645][Question Description = Q35_24Punjabi Set1_A]
1. 1 [Option ID = 6577]
2. 2 [Option ID = 6578]
3. 3 [Option ID = 6579]
4. 4 [Option ID = 6580]

Correct Answer :-
e 1 [Option ID = 6577]

&M SHAel ¥ IHE fere-fenwua (universals) =¥ wrOrg -

(1) 77 & Aego=a fefdesr

(2) g & »iZet AE

(3)  IHEl g=S9 €t yge-oH el
(4) FH=T T AHTAE yaan

[Question ID = 1646][Question Description = Q36_24Punjabi Set1_A]
1. 1 [Option ID = 6581]
2. 2 [Option ID = 6582]
3. 3 [Option ID = 6583]
4. 4 [Option ID = 6584]

Correct Answer :-
e 1 [Option ID = 6581]

3 et wgem @ fefaom few "Drare WY @ TR g3 A e wd AL
(1) 1912 (2)y 1914
(3) 1916 (4) 1918

[Question ID = 1647][Question Description = Q37_24Punjabi Set1_A]
1. 1 [Option ID = 6585]
2. 2 [Option ID = 6586]
3. 3 [Option ID = 6587]
4. 4 [Option ID = 6588]

Correct Answer :-
e 1 [Option ID = 6585]

"Iy ¥ 2o 9% 3 ufow faR wiagH sres = A gu 9
(1) Roll of Honour
(2) Fight For justice

(3) Anita And Me
4 Midnight Children

[Question ID = 1648][Question Description = Q38_24Punjabi Set1_A]



1 [Option ID = 6589]
2 [Option ID = 6590]
3 [Option ID = 6591]
4 [Option ID = 6592]

A W N -

Correct Answer :-
e 1 [Option ID = 6589]

39) fe€ soRsE T sew 'Ha 3 »ie' w nigee fan & otz 9:
)  FJF=ER
(2) T9rs R
3) e
(4) gfesws fAwr

[Question ID = 1649][Question Description = Q39_24Punjabi Set1_A]
1. 1 [Option ID = 6593]
2. 2 [Option ID = 6594]
3. 3 [Option ID = 6595]
4. 4 [Option ID = 6596]

Correct Answer :-
e 1 [Option ID = 6593]

yg=THT UATEt Afos Aegg o ©F Bud O
(1) 335 fiw et

(2) oode fw &

(3) A,

(4) gfoes fiw sfog

[Question ID = 1650][Question Description = Q40_24Punjabi Set1_A]
1. 1 [Option ID = 6597]
2. 2 [Option ID = 6598]
3. 3 [Option ID = 6599]
4. 4 [Option ID = 6600]

Correct Answer :-
e 1 [Option ID = 6597]

B) I RS
(C) <ethwes
(D) ¥orEs g5e
(E) +oes e

(1) (A, (B). D) =S

(2) (B (C). (D) T=H

(3) (A (C).(BE)a=s

4 (A, ®B).(C) &S
[Question ID = 1651][Question Description = Q41_24Punjabi Set1_A]
1. 1 [Option ID = 6601]
2. 2 [Option ID = 6602]

3. 3 [Option ID = 6603]
4. 4 [Option ID = 6604]

Correct Answer :-
e 1 [Option ID = 6601]



42)

(A) feg RISt afe e fem 32 0

(B) few feg ftug s &t UFardt g=t 91

(C) fendt fe€3 = Huitzdu 9= Agst a4t |

(D) feo oWE AWarEt Aees § ot wurfsw ger 31
(E) feg re-d0 €0 5% anfenr & 72 91

75 &3 o2 feamu fe9’ A9 5 At e @ 92

1)  (A).B). O s
(2) (A (B). (D)=
(3) (A (C). (D) &=
4  (A).B).(E)=s

[Question ID = 1652][Question Description = Q42_24Punjabi Set1_A]
1. 1 [Option ID = 6605]

2. 2 [Option ID = 6606]

3. 3 [Option ID = 6607]

4. 4 [Option ID = 6608]

Correct Answer :-

e 1 [Option ID = 6605]

(&) =y <t fegraese

(B) =9 Azqt fe@3

(C) & Hass

(D) nEETsT 3 wifassT I=-ydn
(E) foossaafs

35 &3 a2 feamyt o5 A9 T Aot A= § 92

(1) (A (©), (D) &S
(2) (A (B). (D) &=
(3 (A). D). (B &=
4 (A). (B), (E)&=s

[Question ID = 1653][Question Description = Q43_24Punjabi Set1_A]
1. 1 [Option ID = 6609]
2. 2 [Option ID = 6610]
3. 3 [Option ID = 6611]
4. 4 [Option ID = 6612]

Correct Answer :-
e 1 [Option ID = 6609]



(B) 99 €1 AJY HaSIHGST € §doc

(C) Fsgedtwes

(D) 3= &t ganr few 93 2 feors €2 faniw
(E) &gt sar &t =93

35 &3 o feamur fed’ A9 At AeE § 92
1 B, (0. (D) a=s

(2) (). D). () a=s

(3) (A B). (D) F=s

(4 (B.(C).(E)a=s

[Question ID = 1654][Question Description = Q44_24Punjabi Set1_A]
1. 1 [Option ID = 6613]
2. 2 [Option ID = 6614]
3. 3 [Option ID = 6615]
4. 4 [Option ID = 6616]

Correct Answer :-
e 1 [Option ID = 6613]

(A) FEIw Tg- fomsht

(B) =I= =Hl9- soHES

(C) ofew AH® iz HETI- UTa=del
(D)  nE JeI- Feet

(E) YW JI&H =oie- samget

5 &3 o feawmyr fed’ AZ 3 At 7Aee § 92
(1) (B). (C). (D) &=
(2 (C). D). (BE)&=s

3 D). (E). A s

(4) (A). (C). (D) a=s

[Question ID = 1655][Question Description = Q45_24Punjabi Set1_A]
1 [Option ID = 6617]
2 [Option ID = 6618]
3 [Option ID = 6619]
4 [Option ID = 6620]

AW N =

Correct Answer :-
e 1 [Option ID = 6617]

'HaeTHr it w3 daitor & Aured 35:
(A) A3 ffw AY

(B) T35 ffu Faft

(C) afsgws fiy

(D) iy RS



(E)  fimmer R uen

3z &3 o feamy o5 A9 I At AR @ 92
1 (A, (C). (B d=s

(2) (B (C). (D) &=

(3) (B). (D). (E) a=5

4  (C). (D). (E)a=s

[Question ID = 1656][Question Description = Q46_24Punjabi Set1_A]
1. 1 [Option ID = 6621]
2. 2 [Option ID = 6622]
3. 3 [Option ID = 6623]
4. 4 [Option ID = 6624]

Correct Answer :-
e 1 [Option ID = 6621]

VATt 39t o3 Feare ¥ RO A2 3¢
(A) »EE <t T9- TdEs IF
(B)  Sfonr gt T9- 399

(C) w=gH &t T9- &t &R

(D)  FEbof St T9- I fRw

(E) gardt &t T19- a=t AT

I &% o8 feamut fes A9 T Aot A § 92
(1) (A). (C), (D) &=®

2  (B).(C). (D)I=®

(3)  (C). (D). (E) &=

(4) (A). (B). (D) =>

[Question ID = 1657][Question Description = Q47_24Punjabi Set1_A]
1 [Option ID = 6625]
2 [Option ID = 6626]
3 [Option ID = 6627]
4 [Option ID = 6628]

A W N -

Correct Answer :-
e 1 [Option ID = 6625]

Urmdt fsdu-raf w2 fsduarst o met 52 &

(A) fex gohr 3 397 Fus- goEHw fAw is &=t
(B) wie-fgn <t nindt gmi- Fowts fitw 65
(C)  Uwrg Ehof fE3Er- Heets i

(D) H9 Foar Afgg- T=Ar BEt

(E) g9 59— 5fdes fiw aus

5 &3 o feamyw feg A S ARGt AR § 92



(1) (A (C). (E)a=s
(2)  (B). (C). (A) a=s
(3) (0).D).(E)a=s

4 (B D). AT

[Question ID = 1658][Question Description = Q48_24Punjabi Set1_A]
1. 1 [Option ID = 6629]
2. 2 [Option ID = 6630]
3. 3 [Option ID = 6631]
4. 4 [Option ID = 6632]

Correct Answer :-
e 1 [Option ID = 6629]

49)  farm Gart Su-uRsE wE S T At Az O
(a) efeze- &g 5o
(B) FY T AO- HES'E AT
(C) 1irs™- s g=
D) FIHK - woedt nEt
(E) FAo- vHa 308
5 &3 o feawmyr fed’ AZ 3 At 7Aee § 92
(1) B). (C). (D) &5
(2 A).®B.C s

(3  (B.(0). (E) s

(4) (C). (D), (E) &=

[Question ID = 1659][Question Description = Q49_24Punjabi Set1_A]
1. 1 [Option ID = 6633]

2. 2 [Option ID = 6634]

3. 3 [Option ID = 6635]

4. 4 [Option ID = 6636]

Correct Answer :-

e 1 [Option ID = 6633]

fa= ovg Tooet & afegr aus faos ous =09 At 95

(4) fo= e & afes o= fimma/fera @ 9= § fago 3 fiT €3 feor & grea 3 SomEt UFarst atst
aret J1

(B) fa= arfe Ao fiw =91 finnrs 3 ARe 55 AEfus S9fenr § fea on @ fesu/e<e fev UF a9er 31
(C) fam-afe ge swez-afe o fimrg 3 yarst § mrase fee fogee 91

(D) fae-arfe g nifizr-arfe =@ fimrs © By & feue®/iserus feret @i adt der 91

(B) frae-arfe fagor & foor yrsSitaes adt, Aer ferer 9 g dt afgar &

75 &3 o2 feamyt o9 A7 5 Rat A= § 9%
1 A).®).(C)a=s

(2 (B).(C). D) a=H

(3)  (C). (D). (E)a=®



(4) (A). (D), (E) a=s

[Question ID = 1660][Question Description = Q50_24Punjabi Set1_A]
1. 1 [Option ID = 6637]

2. 2 [Option ID = 6638]

3. 3 [Option ID = 6639]

4. 4 [Option ID = 6640]

Correct Answer :-

e 1 [Option ID = 6637]

AHEEL Ut afesT feg Tugs TEt feRdea IEEEt ow fen fem 35 o 9= 3 g gars €t Afgo®
Ag< J Fal:

(A) Foond Gees € Aue fo39E 3 fasar

(B) fmma T Teusa uAS § yaiHasT

(C) W= ¥ A, fems T s@es He o foug

(D) =O== AIT I HUSTTEL STEIE § HOST

(E) feoouew yfsdosr 2 gt  AUs =t Umarst

75 &2 o feomut fe5 A9 T Aot AR § 32

(D A).®).E I

2) (B).(C). D ="

(3 (A (O E) T

(4) (A). (B), (D) &=
[Question ID = 1661][Question Description = Q51_24Punjabi Set1_A]
1. 1 [Option ID = 6641]
2. 2 [Option ID = 6642]

3. 3 [Option ID = 6643]
4. 4 [Option ID = 6644]

Correct Answer :-
e 1 [Option ID = 6641]

fonasterst nieore=t aee fou o9 fefoe yfeosmr ysfes o5 -

(4) fovaSt==t aoee=

(B) owifas fefson frens

(C) ovfaa yarstee

(D) wETERE

(E) usfud use-Hanist

I5 3 o2 feomw R RE S Rt Aem 3 9% ¢
(L (A). B).(C). (D) &=s

(2)  (B).(C). (D). (E) =S

(3 (O, D). (E). (A) a=s

4 (D). (E).A). B xS

[Question ID = 1662][Question Description = Q52_24Punjabi Set1_A]
1. 1 [Option ID = 6645]



2. 2 [Option ID = 6646]
3. 3 [Option ID = 6647]
4. 4 [Option ID = 6648]

Correct Answer :-
e 1 [Option ID = 6645]

Fafenrs ffw wiffer s=sae 9, A &t s9o o ToRfsa @i o8 €5t 9 feRr S =77 @ -
(A  ©F T yIs font 7 95 I AR AYTT S AT T yfsfen &

(B) Fe 83 feu aow &t 95 T ToE &

(C) feg fem ouis foRet @ Aees feafos wiS AHaet 96 |

(D) fegt @ 38 fom ouis font wSuTr feadh aaet 3a fenmu 31

(E) fegf ot Iv-arem= 1€ nigw A &t 03 35 €99 3% wWR Ifos a9 32 T51

35 &3 a2 feamyr o3 A9 T At AeE & 9% -

(1)
(2)
(3)

(4)

(A). (B). (C). (D) &==
(A). (B). (D). (E) 3=
(A). (B). (C). (E) =%

(B). (C). (D). (E) &==

[Question ID = 1663][Question Description = Q53_24Punjabi Set1_A]
1. 1 [Option ID = 6649]
2. 2 [Option ID = 6650]
3. 3 [Option ID = 6651]
4. 4 [Option ID = 6652]

Correct Answer :-
e 1 [Option ID = 6649]

(A)
(B)
(C)
D)

(E)

RErfsa HRTEHT w3 Hegs 3 fAene = nrore fimer)

THESt M3 WiSI-THES! HAfeHT w3 Aeest @ fagssa-yrer =t dEart |
f95-f8s F9or-Aues’ § Un g9z ¥@ fea 9t fomdt &t w93 |

faR A gUS 7 ween 3§ frone & g5t & s= 8

ey Yfz HeieEt get § o9s aeaT |

I35 &3 o feomu fes AR T AGt A8 3 9% ¢

(1)
(2)
(3)

(4)

(A). (B). (C). (D) &=s
(A). (B). (D). (E) &5
(B). (C). (D). (E) &=

(A). (B), (C). (E) 3=

[Question ID = 1664][Question Description = Q54_24Punjabi Set1_A]
1. 1 [Option ID = 6653]
2. 2 [Option ID = 6654]
3. 3 [Option ID = 6655]
4. 4 [Option ID = 6656]

Correct Answer :-
e 1 [Option ID = 6653]



55)

feaaft w3 feaiatars = At fiers @ -
(A) fe= fAze fAeT - g939 fiw &0
(B) fea niz=9- nretAlLaer

(C) féooa®- JHs &6 nger

(D) few orfez 39— niane fAw Wiey
(E) usz &t 551 g9 fAw A

75 &% o2 feamut fes A9 T Aot AeE & 92

(1) (A). (C). D)=
(2) (B).(C). (D)a=H
(3 (E). ®B). D) a=s
(4) (C). (D). (E) 3=%

[Question ID = 1665][Question Description = Q55_24Punjabi Set1_A]
1. 1 [Option ID = 6657]

2. 2 [Option ID = 6658]

3. 3 [Option ID = 6659]

4. 4 [Option ID = 6660]

Correct Answer :-

e 1 [Option ID = 6657]

TH-%38 &' AE(03 fearar = Aot 6 9:
(A)  Eudt I I, fodor

(B) oo, oo HoHT U =7

(C) W= AATS, Efest

(D)  fuzr fimrs, g9 €95 Ai0S

(E) &9 539, §-wd

35 &3 a2 feamu fe AZ T RAt ATE § 92 ¢

(1 (B (O, (D)F=H
2  (©). D) (B Fs
(3) (A (B). (E)a=s
@  (A). D). (© =S

[Question ID = 1666][Question Description = Q56_24Punjabi Set1_A]
1. 1 [Option ID = 6661]
2. 2 [Option ID = 6662]
3. 3 [Option ID = 6663]
4. 4 [Option ID = 6664]

Correct Answer :-

e 1 [Option ID = 6661]

(A) & Ho- T9Rds R

By i e oREy. fRoe S foare- e enrm TR B



(C) oed = fseoHs- o= TS

(D) Uadt s = fefsow- AideeHs fu Aee
(E) frewe=ve oex f5oens- ments fiur Ast
s &3 a2 ooy fod W9 3 At e § 92

(1) B). (C). (D) a=s

(2) (A). B). D) =

(3) (C).(D).(E) a=5

4  (B). D). (E T

[Question ID = 1667][Question Description = Q57_24Punjabi Set1_A]
1. 1 [Option ID = 6665]
2. 2 [Option ID = 6666]
3. 3 [Option ID = 6667]
4. 4 [Option ID = 6668]

Correct Answer :-
e 1 [Option ID = 6665]

T Ton aue fo9 oo aus Fat 95

(4) fereiass &t yfafor 82 w2 mifls Afewerst 2 faurs & yfaforr g=<t 7 3t 31
(B) fersiass Tt usfafonr 33 w2 fearz Afgwrarst ¥ YA = wog 92 991 T
(C) fer<iaes feq wezar 3, fan & fef¥s Afewros 98 Ao § wsH &9 &7 31
(D) fer<laas 96 »ifeonr geo= »isfa w3 AR T

(E) ferstaes € aas UArst Rfgnmerg = umitass & famr 31
35 &3 o2 feamyt o9 A9 5 Aot Ao § 92
(1) A). B). (E)a=s
2 (B, (C), (D) &=s
(3) (C), (D), (E) a=®
4 (A, D). a=s
[Question ID = 1668][Question Description = Q58_24Punjabi Set1_A]
1 [Option ID = 6669]
2 [Option ID = 6670]

3 [Option ID = 6671]
4 [Option ID = 6672]

A W N -

Correct Answer :-
e 1 [Option ID = 6669]

(A) g93s o9 SFt 9n USUSEIS 291 5% Uet et 99t 91

(B) A3 3 owrsfHa 9a1 5% UR ai3T famr ger 31

(C) Umamrst BTt g€ guar, ystar 3 ffw &t =a5 &ist At 7 3 &€ AUe 35" &t
(D) Umeret feg Fovs &t mifsfonast w9 fasme gt 91

(E) gzos few 337 € SorHeEt yas o5 |



Iz &3 a2 feamy fod’ A9 3 ROt 7eE § 92

(1) (A). (B), (C). (E)3=®

(2) (A). (B). (C), (D) &=S

(3) (B (). (D). (E) =S

(4) (D). (E). (A). (B) &=w
[Question ID = 1669][Question Description = Q59_24Punjabi Set1_A]
1. 1 [Option ID = 6673]
2. 2 [Option ID = 6674]

3. 3 [Option ID = 6675]
4. 4 [Option ID = 6676]

Correct Answer :-
e 1 [Option ID = 6673]

35 vad fo7 fao3 g5 AE § =09 Rt 7% :

(A) Ffgnrag T Aasy AfSWET ¥ 59TET &t |

(B) Afomraa & Rasu M39 HYST & §F 99HYST 5% AE0 Sy I |
(C) wfgnrems fea fadse e=9r 91

(D)  wfgwrarg fenmua T ue feim &dt 31

(E) wfewrarg mfgg & § mi2 ufseazsHts

3z &3 a2 feamy o5 A9 ' At AeE § 92
(L (A). B).(C) &S
(2)  (C). (D), (E) =&

(3) (B). D). (E)Fs

49 (A ©). (BT
[Question ID = 1670][Question Description = Q60_24Punjabi Set1_A]
1. 1 [Option ID = 6677]
2. 2 [Option ID = 6678]
3. 3 [Option ID = 6679]
4. 4 [Option ID = 6680]
Correct Answer :-

e 1 [Option ID = 6677]

(D)  nEg-fefamrsa
(E)  rHA-fefomra

35 &3 o feamy' fed AE I At AeE & 9% ¢

1) (A). B). D). (E)a=s



(2) (A, (C), (B), (E)&=s
(3)  (A). B). (C). (D)=

(49 (B). (C). (D). (E) =&

[Question ID = 1671][Question Description = Q61_24Punjabi Set1_A]
1. 1 [Option ID = 6681]
2. 2 [Option ID = 6682]
3. 3 [Option ID = 6683]
4. 4 [Option ID = 6684]

Correct Answer :-
e 1 [Option ID = 6681]

niEt oEr 95
@) B

(B) =amEd
€ ==

(D) T
(E) fenims

35 &3 o fegmy o5’ A9 AGt 7em § 92
1) (A).®).(C) s
(20 (B).(C). (E)3F=®
(3) A (©.(EIT

4 @A.®B). D s

[Question ID = 1672][Question Description = Q62_24Punjabi Set1_A]
1. 1 [Option ID = 6685]
2. 2 [Option ID = 6686]
3. 3 [Option ID = 6687]
4. 4 [Option ID = 6688]

Correct Answer :-
e 1 [Option ID = 6685]

FH FHAEt T Hamuwt &% RE03 =99 4
(A) ==wE §A et A

(B) ot 99 fedt

(C) ez 2 Has

(D) U=t aw

(E) HPHJHSST

¥z &3 a2 feamy o5 A9 3 ROt 7o § 92
1) (A).(0). (D) I=H
(2) (A (B), (D) =S

(3) (B). (D). (E)d=w

(4  (C). (D), (E)a=s



[Question ID = 1673][Question Description = Q63_24Punjabi Set1_A]
1. 1 [Option ID = 6689]

2. 2 [Option ID = 6690]

3. 3 [Option ID = 6691]

4. 4 [Option ID = 6692]

Correct Answer :-

e 1 [Option ID = 6689]

(A) R wrewt yfaest T ger T

(B) uI=w & Turt mifsafas o=t &1

(C) H®<H 3 &5 & YT & 3fge yg=R T
(D) ¥®eR @ @ Iyt 3t ugeH T

(E) H®<W yg<Ht 52 &t I8 = w0 Aot 91
35 &% o feomu s A8 T At Aee § 9F -
1 @) ®B).(©C)

2 (O, (D). (E

(3  (E). @A) B

4 (B). (). (D)

[Question ID = 1674][Question Description = Q64_24Punjabi Set1_A]
1. 1 [Option ID = 6693]

2. 2 [Option ID = 6694]

3. 3 [Option ID = 6695]

4. 4 [Option ID = 6696]

Correct Answer :-

e 1 [Option ID = 6693]

HA-fednr FEdt fao3 ous <03 At 76 -

(A) =gIar I fimrfant 8 99 aus 7 fegrer 3 RetaTe a9 fsana=ng fedt 1

(B) yfuaree=t fedt fes fenmum A7 AeERTOrez AfEst 5 feim Bfest 3 udas = feos 31

(C)  im3Ha B39 7 IZHHTT & A9 famrs & nifemare gaorest fedt ot o 91

(D) Fegee firs- yust & a2t AS39 fedt adt; foo dew Ao W 49 o 83We wmer (g
ATS T

(E) wmansravw ferit feg ferm rfadt T fonmum wieer Aegrras RSt 25 udess @ feos 31
35 &3 o feomy fe9 A9 3 At o8 § T2

1 A.®.(C) =

(2) (B). (C). (D) &=

(3)  (C). (D). (BE) &=

4  (E).A). (B S

[Question ID = 1675][Question Description = Q65_24Punjabi Set1_A]
1. 1 [Option ID = 6697]
2. 2 [Option ID = 6698]
3. 3 [Option ID = 6699]
4. 4 [Option ID = 6700]



Correct Answer :-
e 1 [Option ID = 6697]

°6) At 1 3 met 11 5% 7S &9 ¢
e I Fet I
(A) ¥=F39 3 gT=9 () Fago==
(B) Fess 3 ydy (D) HIER=T
(C) @tg3Ere (IT) Rfgnraraa mitmiis
(D) ofedfsdt 3 sfemiar (IV) Bdes

(1 (A-dD). (B)-(IV). (C)-(ILL), (D)-(1)

(2)  (A-IID). (B)(ID. (C)-(I). (D)-IV)

(3) (A)-(D). (B)-(III). (C)-(IV). (D)-(1I)

4  (A-aV). B)-O. (C)-aD). (D)-IID
[Question ID = 1676][Question Description = Q66_24Punjabi Set1_A]
1 [Option ID = 6701]
2 [Option ID = 6702]

3 [Option ID = 6703]
4 [Option ID = 6704]

AW N =

Correct Answer :-
e 1 [Option ID = 6701]

&7) AR IZ AR Il 58 As as -
Ft I 7t 1T
(A) A9 Wt 753 ool ue A O == e
(B) fimrs fias wAgs €5 7= (II) == =J9ie
(C) feasr 370 Az feasr I ofs (IIT) =g ThS
(D) Unff U8 HY HOR(E o9 7 & T &6 IV) =8 79

1 A-D. B)-II). (C)-1D). (D)-aAV)

2 A)-dD. (B)-(D). (C)-AV), (D)-(I1L)

(3  A-dD. B)-av). (O)-D. (D)-IID

4  (A-AV), (B)-(III). (C)-@), (D)-(ID)
[Question ID = 1677][Question Description = Q67_24Punjabi Set1_A]
1 [Option ID = 6705]
2 [Option ID = 6706]

3 [Option ID = 6707]
4 [Option ID = 6708]

A wN =

Correct Answer :-
e 1 [Option ID = 6705]

AR IR Il 5% S &9 ¢



(A fsos i (I) oo it
(B) wms frw (L) o gat fiw agor
(C) »Fafe (IIT) Fos™r 99
(D) TEIAT (IV) Horamr 5t a9 aifde fiw

(1 A-av), (B)-(D. (C)-(ID), (D)-()
(2)  (A)-ID. (B)-1). (O)-IV). (D)-(ID
(3  (A-D. B)-0V). (C)-aII). (D)-ID)
(4 (A)-dD). (B)-dID). (C)-(D. (D)-IV)

[Question ID = 1678][Question Description = Q68_24Punjabi Set1_A]
1. 1 [Option ID = 6709]
2. 2 [Option ID = 6710]
3. 3 [Option ID = 6711]
4. 4 [Option ID = 6712]

Correct Answer :-
e 1 [Option ID = 6709]

) rR1dmR I imad
mt I F I
(A) THET niEEt () y=r @3er
(B) = A9 fifwr (II) =7 ygew fe=
(C) wfeeaus fiu (II) ST THESt AggaH
(D) ueHs fAw IV) 7% e

1) @A-O. B)-aI). (C)-(1V), (D)-AD)
2 (A-aID. (B)-(D). (C)-(ID). (D)-IV)
(3)  (A)-AD. (B)-(I1I). (C)-(@). (D)-IV)
@ (A-IV). (B)-ID). (C)-(ID). (D)-(I)

[Question ID = 1679][Question Description = Q69_24Punjabi Set1_A]
1. 1 [Option ID = 6713]
2. 2 [Option ID = 6714]
3. 3 [Option ID = 6715]
4. 4 [Option ID = 6716]

Correct Answer :-
e 1 [Option ID = 6713]

70 5135 I o Am aE
met I met 1T
(A =% fes O yarEter=t afesr
(B) Howrs feem (I) ug="At Afezr

o — CTTTY eee—————L e



LR a0 1gies 111} 1< 9% %l Glies’

(D) = S%<3 (IV) warert afesr

(1)  (A)-d. (B)-(IV). (O)-D). (D)-(
(2)  A)-av). (B)-(D. (C)-(D. (D)-AID
3  (A)-aID). (B)-I). (O)-ID). (D)-IV)
@ (A-ID. (B)-(IV). (C)-(D. (D)-(III)

[Question ID = 1680][Question Description = Q70_24Punjabi Set1_A]
1 [Option ID = 6717]
2 [Option ID = 6718]
3 [Option ID = 6719]
4 [Option ID = 6720]

AW N =

Correct Answer :-
e 1 [Option ID = 6717]

71
) R 1§ e e
I me 11
(A) oz g O s Goe
(B) A=3 fiw d=5 (II) 3 =&t T
(C) wafenrs fiur (III) oR=™T
(D) =@ &s feerm (IV) nig fufsnr €5

1)  A-av). B-IID. (O)-ID. (D)-@
@ A-aV). B)-1D. (C)-1). (D)-(II)
(3)  (A)-ID. (B)-(IV). (C)-(II). (D)-(T)
4  (A-ID. B)-aAV). (O)-O). D)-In

[Question ID = 1681][Question Description = Q71_24Punjabi Set1_A]
1 [Option ID = 6721]
2 [Option ID = 6722]
3 [Option ID = 6723]
4 [Option ID = 6724]

A W N -

Correct Answer :-
e 1 [Option ID = 6721]

D) rR1g R E Am S
Fet 1 F I
(A) =omEs i famrst (D o uwE &
(B) afees ==t (II) Us* & ynr3
(C) &y ffw a9 (IIT) »r3 = fonmg
(D) nAHT I (IV) aHareHyg

35 &3 o feamy fod At Aeme & 92



(1)  (A)-0ID. (B)-(D). (C)-(1D), (D)-IV)
2 A)-O. B)-1I). (C)-1V), (D)-IIL)
3 (A-ID. (B)-(D. (C)-(ID). (D)-(IV)
4 (A)-AID. (B)-1I), (C)-(IV), (D)-(D)

[Question ID = 1682][Question Description = Q72_24Punjabi Set1_A]
1. 1 [Option ID = 6725]
2. 2 [Option ID = 6726]
3. 3 [Option ID = 6727]
4. 4 [Option ID = 6728]

Correct Answer :-
e 1 [Option ID = 6725]

) s 1Em e s
il et I
(A) Fouw v =5= (I) & oaH
(B) wAfe=T ity (II) At Sa-Afo3 FAST
(C) R.R. T=aa gt (III) Rfgwrarg w3 dAvt Afsnrarg
(D) =fe=e rAfanragt (IV) foror

(1)  (A-AID. (B)-ID. (C)-(D. (D)-AV)
2 A-O. B®-d1D. (O)-dD, (D)-0V)
(3)  (A)-AD. (B)-), (C)-(IV), (D)-(D
4 (A-aV). (B)-ID). (O)-aD, (D)-O

[Question ID = 1683][Question Description = Q73_24Punjabi Set1_A]
1. 1 [Option ID = 6729]
2. 2 [Option ID = 6730]
3. 3 [Option ID = 6731]
4. 4 [Option ID = 6732]

Correct Answer :-
e 1 [Option ID = 6729]

74) . )
At 13 g1 1L 578 S &9
el At 1T
(A) ufenwrsr (O H=t
(B) fmrz (I1) umrt
(C) =m§e (IIT) st
(D) ghmmays (IV) HEeet

(1)  (A)-dD. (B)-dD). (C)-(D. (D)-AV)
2y  (A)-AID. (B)-aV), (O)-aD), (D)-D
(3)  (A)-AD. (B)-AV). (C)-(D. (D)-IID
4  (A-aV). B)-O, (O)-I1D, (D)-(ID



[Question ID = 1684][Question Description = Q74_24Punjabi Set1_A]
1. 1 [Option ID = 6733]
2. 2 [Option ID = 6734]
3. 3 [Option ID = 6735]
4. 4 [Option ID = 6736]

Correct Answer :-
e 1 [Option ID = 6733]

3) w13 gt 11 o7 e 9
FEI gt 1T
&) =3 I uE FuF: guUr T
ngeed: THE A
(B) Jaft st (I) ¥ Fua: 28 HetAs

wEeEd: J=u9 B A9E

(C) 7=t Ay (1) H& BYd: USH WA §a
wgeed: Stog, Reeer

(D) EHbwr T IBE V) HE Bua: WSfes Wa5s
wgeTed; A99HF

(1)  (A)-aD). (B)-(II). (C)-1@). (D)-AV)

(2) (A1), (B)-(ID). (C)-IV). (D)-(D

@  (A-AD). (B)-I). (C)-AV). (D)-(I)

(4) (A)-(IV). (B)-(IID). (C)-(I). (D)-(I)
[Question ID = 1685][Question Description = Q75_24Punjabi Set1_A]
1 [Option ID = 6737]
2 [Option ID = 6738]

3 [Option ID = 6739]
4 [Option ID = 6740]

A W N -

Correct Answer :-
e 1 [Option ID = 6737]

et wrgaer feg yoIus witis fedr o R g @ ¢
(A) HIER=E MTESET

(B) gu=eEl Aegeeel mME9sT

(C) Ss9-wrufsasrerst nidas

D) ys===t wEIeT

(E) fous-fefomrsa mdas

(1) (B). D). (C). (A). (E)
2) (0. (B). (E). D). A)

(3) (D). A). B (E). ()
@ @A) D). ®B.(©.(E)
[Question ID = 1686][Question Description = Q76_24Punjabi Set1_A]

1. 1 [Option ID = 6741]
2. 2 [Option ID = 6742]



3. 3 [Option ID = 6743]
4. 4 [Option ID = 6744]

Correct Answer :-

e 1 [Option ID = 6741]

& UATH et el =T Adt S@-gH T
&) FI TS
(B) FU-AEE
(C) TmH
(D) B#&s% g

(E) & fioat so3at
(1) A D). ®B.(C).(E)
2 A. @B, D). (). (E)
(3  (B). D). (E). (C). (&)
(4  (E). (B), (C). (D). (&)
[Question ID = 1687][Question Description = Q77_24Punjabi Set1_A]
1. 1 [Option ID = 6745]
2. 2 [Option ID = 6746]
3. 3 [Option ID = 6747]
4. 4 [Option ID = 6748]
Correct Answer :-

e 1 [Option ID = 6745]

(a) ofed s9yew

B) g
(C) faous

D) us ffu nrfsg

(E} THH HJ

(1) (B). (4). (C). (E). (D)
(2) (A). (B). (C). (D). (E)

(3)  (O). (B). (D). (A). (E)
4 (D). @A) (©). [B).(E)

[Question ID = 1688][Question Description = Q78_24Punjabi Set1_A]
1. 1 [Option ID = 6749]
2. 2 [Option ID = 6750]
3. 3 [Option ID = 6751]
4. 4 [Option ID = 6752]

Correct Answer :-
e 1 [Option ID = 6749]

Tt Fr-fEest T Rt I B e T



(A) dHemredw
(B) maw &t Fm

(C) fwEdE

(D) fooust satar

(E) fug wms A}

(1) (A). (C). (E). (D). (B)

(2 (C). (B), (D). (A). (E)

(3) (D). ®B). (C). (A). (E)
@  (C).A), D). (E). B

[Question ID = 1689][Question Description = Q79_24Punjabi Set1_A]
1. 1 [Option ID = 6753]

2. 2 [Option ID = 6754]

3. 3 [Option ID = 6755]

4. 4 [Option ID = 6756]

Correct Answer :-

e 1 [Option ID = 6753]

nrfse et afes feg yees aferas T A e 9 ¢
&)  EsT-nrofea afesr

(B) ywaeTer afesr

(©) et afesr

(D)  9Hfex afesr

(E) gsaeet afesr

(1) (A).(E). (B). (C). (D)
@ (B ). D). (E. A
(3)  (C). (D). (E). (B). (A4)
@ D). (B). (E). A)

[Question ID = 1690][Question Description = Q80_24Punjabi Set1_A]
1 [Option ID = 6757]
2 [Option ID = 6758]
3 [Option ID = 6759]
4 [Option ID = 6760]

A W N -

Correct Answer :-
e 1 [Option ID = 6757]

&% ¥ gU AYGt fATSE RSt yes J96 TEMF URSS B Rt I%-gH 7 ¢
(A) F=s &t usd

(B) UAl 52% T »EISSHE miis

(C) o=52uUmTe



(D) dAdt 5=m

(E) dndt 5=w fos ofea = feuss

1 (A). (B). (C). (D). (E)

2 (B (©). (D). (E). (&)

(3 (C). (D). (E). (A). (B)

@ (D). (E) A). B ©)
[Question ID = 1691][Question Description = Q81_24Punjabi Set1_A]
1 [Option ID = 6761]
2 [Option ID = 6762]

3 [Option ID = 6763]
4 [Option ID = 6764]

A wWN =

Correct Answer :-
e 1 [Option ID = 6761]

82

: nivHe i nigy ¥ seot = AOT-a®gH § ¢
(A) i famast
B) Tt

(C)  n9=e 595= UUaa

(D) FAI TS

(E)y fo= vt =four

(1) (C). (A). (D). (B). (E)

(2) (A). (B). (D). (C). (E)

(3)  (B).(©). D). (E). (&)

4 (D). (E) A). (). ®B)
[Question ID = 1692][Question Description = Q82_24Punjabi Set1_A]
1. 1 [Option ID = 6765]
2. 2 [Option ID = 6766]

3. 3 [Option ID = 6767]
4. 4 [Option ID = 6768]

Correct Answer :-
e 1 [Option ID = 6765]

SaTgT W3 AFEETE 578 AEMS YRS @ Adt a@-aH & -
(A) = T gE @i

(B) & Hi9 I7 IAG

(C) & arfe =t frews yfafanr

(D) O3 o S

(E) &3 usuT 3 Tuie Afen=a

. L U W . S N . S, L . TR - SR,



P T2 gl I=stad I'e Adl ne'd @ g< .

(1 (A). ®B). (C). (D). (E)

(2) (B (C). D). (B). (A)

(3 (). (D), (E). (A). (B)

(4 (E). D). (O). (B). (&)
[Question ID = 1693][Question Description = Q83_24Punjabi Set1_A]
1 [Option ID = 6769]
2 [Option ID = 6770]

3 [Option ID = 6771]
4 [Option ID = 6772]

A w N -

Correct Answer :-
e 1 [Option ID = 6769]

FwT, I fefaris w3 UArEt 3T ¥ wiftnis AEO! Yaras YRS @ Al gH o ¢

(A) frosa g fefamrs (37, Q0 yorm
(B) g @ feaw (TE F9)

(C) w3 RIS T AgY (3, ger ffw 599)
(D) w7 2 g fefoms (57, g9etss i)

(E) fefsoma s fefomrs (3. wrsH fifw)
1) (A, (©). D). ®B).(E)
2 (C). (D). (B). (A). (E)
3  @. D). ©).®.E)
(4) (B). (D), (A). (E). (C)
[Question ID = 1694][Question Description = Q84_24Punjabi Set1_A]
1. 1 [Option ID = 6773]
2. 2 [Option ID = 6774]
3. 3 [Option ID = 6775]
4. 4 [Option ID = 6776]
Correct Answer :-

e 1 [Option ID = 6773]

(4) TOwEEaE

(B) Er: i rond

(C) dufem@mz
(D) wIlEEE

(1) (A). (B). (C). (D)
2y D). (). [B).A)



3  B).@.©C). D
(4) (C). (B). (A). (D)
[Question ID = 1695][Question Description = Q85_24Punjabi Set1_A]
1. 1 [Option ID = 6777]
2. 2 [Option ID = 6778]
3. 3 [Option ID = 6779]
4. 4 [Option ID = 6780]
Correct Answer :-

e 1 [Option ID = 6777]

3 2 39 =99 T5 : few @i (A) T oF T @EE(R) T

e A:  AfoS Aeger few AHS JEt 9, guEes et a9 & feT wuE 9 qfos F9et 7 w3 Ae-
fowzas nidts fegraer T |

g9z R: faffa, mfoz-us & ovF yomss oRSt 91 3, 7 3=, Rfgnmeaa w2 ANTAa S93Tiant 3
TS gt 81

udaz e &t IEet fou fon feomyt &9 Aot B39 25

(1) =5 AwS RAdtgs w3 R, A &t Adt fonrfior 3

(2) #F Aw3 Rwdtos #fas R, A& Adt fenrfior 50t 31
(3)  Andt 3 3fas R At a4t 91

(4) Awdtdt §3fas R Ad Tl

[Question ID = 1696][Question Description = Q86_24Punjabi Set1_A]
1. 1 [Option ID = 6781]
2. 2 [Option ID = 6782]
3. 3 [Option ID = 6783]
4. 4 [Option ID = 6784]

Correct Answer :-
e 1 [Option ID = 6781]

I 2 395 TN U5 : few Eier (A) @ ER aEE®R) 91
T A ;. T9 3 6F I3 9 Ot a9t Hfenr wEn, AE 3 Gu wSH S e 7 et R

F9ER T feREc e et feus o@ ft REMT 50f, AT SS9 A Aggo fee et s =¥ 99 &
ftmrs i 7T 1

Sudas Tt @ TEet fe sk ey fod Rt B9 9E
(1) <TEAwWZRAFNTTMT R, AT AT foorfimr 31
(2) =5 AwZ R Adtgs 3fas R, A & Adt fenrfumr st 31
(3) A wdt T &fas R A 5T T1
(4) A rdtadt 9 &fes R AT
[Question ID = 1697][Question Description = Q87_24Punjabi Set1_A]

1. 1 [Option ID = 6785]
2. 2 [Option ID = 6786]



3. 3 [Option ID = 6787]
4. 4 [Option ID = 6788]

Correct Answer :-
e 1 [Option ID = 6785]

J5' 2 E% T9H T5 : few i (A) T o3 g a9E(R) T -

T A ;. wOfsx ARt Afsnraaa fefsom <t fea fogefes Sues us-Rfsno9a HG-1% 3 USSR ©
3t &% Tuz 71feR 2939 5 UAdt Aoz, Rfgwrsa 3 moH fog §t g3 wifadher sa<tshr
e 75, § aosHaST Bt & Higw Arfosa s T Ofes 35t a5

Fe= R : useHr URHEt afesT & wofex UREr afest 3 femes femme, IEWR do-AEsTT, EENEE
YFUST M3 Yg-AleWTad migger ©f UHeret 9t feresT 3 aifoaet y=rs oist|

Sudaz TEw @t Iuat fe fod feamyr fo5 At €39 75

(1) TS AMI RAG I mZ R, A ¥ At fenrfemr 31

(2) 5 An3 R Adt 95 #fas R, A <t rdt fowrfoor st 91
(3) A mdt § 3fas R At &4t T

(4) ARG I T Efas R AG T

[Question ID = 1698][Question Description = Q88_24Punjabi Set1_A]
1. 1 [Option ID = 6789]
2. 2 [Option ID = 6790]
3. 3 [Option ID = 6791]
4. 4 [Option ID = 6792]

Correct Answer :-
e 1 [Option ID = 6789]

I5 8 ous 99H U5 : few Eier (A) I EE aeE(R) T ¢
TR A ;U JaHE nigas ufAfaser St o ydias ugnRfashr 9 209 feans afewr 31
g9z R : UWE Ao &% REMOS Jas =t 39uT THdt feR = ySu AES 31

Sz Fue ©t SEt fem fou feamyt fod mat €39 35

(1) =B AnwZRAG TS R, A &t Adt fenrfimr T

(2 5 A2 R Adt 75 3fas R, A &t ot feonrfemr =3t T
(3) A AIt § 3fas R At sat 91

(4) A mat 58t & 3fas R "t 1

[Question ID = 1699][Question Description = Q89_24Punjabi Set1_A]
1. 1 [Option ID = 6793]
2. 2 [Option ID = 6794]
3. 3 [Option ID = 6795]
4. 4 [Option ID = 6796]

Correct Answer :-
e 1 [Option ID = 6793]

35 € 9us TeR U5 : feg ¥ (A) ImE ER @EE(R) T ¢

T A ;- UAd I e gt fft fer asa J =09 €fss 3 ¥t § e fruwet 3 9T I &
RofEsT 3 w99 &St At 91 feRe €% moudt T ywe AR S9 I & gal-fe€S 3 mEw
3IT% SR wEt fmiters yeas e aa<t 3fd=t 31

gz R : feg vAaw Goa Aot feinr & yoar fem Arowe i€t 9, fig fem fem 5 =09 s
it g wetr o5 w2 €0 fidt fewa oo yoms & gehr o)

Sudaz aust &t IEst fee fod feamy fos At €39 35
() TEAWZRAA TSI R, A AT fonrfipr 31

(2) F5 A3 RAdA 75 Fas R, AT R foorfimr 53T 31
(3) ArdtT 3fas R A SOt T



(49 Anrdtadt @ 3fas R AGE T

[Question ID = 1700][Question Description = Q90_24Punjabi Set1_A]
1. 1 [Option ID = 6797]
2. 2 [Option ID = 6798]
3. 3 [Option ID = 6799]
4. 4 [Option ID = 6800]

Correct Answer :-
e 1 [Option ID = 6797]

Topic:- 24Punjabi Set1_B

1) Ao Aifimr 2 g Arfos-fiewe feg Ot Age dF oo 1ufost afesr @t yare @ @ wriE =t wase =
Aa3 2 8t 9197 »iF fouma o fade 7 arfe-fReve = y& 9, »iRs feg WeeesHa ARES Ot J | fraws-
yfefenr fes e w3 feviar 9% fed AR a9 9% 9% o5 1ot fed B @ 937§ wfr F fsdmer & w3 Gy
3 fed TR &% A3 T 1MSes & 9 I Aua I fag & 9% AeeT 7 u9 fever 3 fagt afe-freae & o=
adt| foiT wEge=Ha oeH = Ot adt afe frene =, At 79 AT ARfasw frewe = afewrst 33
3113t F3% T fearA gy § uerER TF g9 3 arfex yaew I Sfuw famrs fesae TRe ufost we ot
W & 3t Hfenr 3160 I 3 fefamrs So7 3 3t famrs Er T W Haw 3, feR few ufomt v yarerer
I o T Homy |

Sugas e uza 3o feu yast @ €39 feh:
wfaz faane farer Aa fést -
(1) J=Ifomarer (2) w8z Tt wrdesT =
(3) Fuw3femae (4) mfos-nggdt e

[Question ID = 1701][Question Description = Q91_24Punjabi Set1_B]
1. 1 [Option ID = 6801]
2. 2 [Option ID = 6802]
3. 3 [Option ID = 6803]
4. 4 [Option ID = 6804]

Correct Answer :-
e 1 [Option ID = 6801]

2) Aoz AHifamr 2 bW Arfos-frewe feg dt Age dF oo 1ufodt afesr @t yae @ & iz =8t waee =
Aag T &1 3192 w3 v & fada 7 arfe-fRene = & 3, »iRs fes wesosHa ARams 4t J | frere-
3 fed o/ &% A3 T IWSes € oM I Aud I fag & 9% AaeT 7 u9 feter 3 fagt arfe-frene & o=
adt| foiT wEge=Ha oeH = Ot adt afe frene oo, At 79 At ARfasw freme = afenrst 33
3113t F3% T feaA gy § uerER TF g9 3 arfex yaew I Sftw farrs fesae TRe ufost wS ot
Hg & 3t ¥fonr 3160 I 3 fefamrs 3ot 3 3t famrs Eoff F Wwe How 9, fen fem ufomt v yarer
I o3 TH Aoy |
&usas e uza 3o feu yEst @ €39 e

WHIGSHE KA &t ger 4t

(1) Iz 3 fonma = fag=m

(2) @& T fefamrs = nize-Heg
(3 337 T fousT T 79-100

4 Hett g=ar = feam gH

[Question ID = 1702][Question Description = Q92_24Punjabi Set1_B]
1. 1 [Option ID = 6805]
2. 2 [Option ID = 6806]
3. 3 [Option ID = 6807]
4. 4 [Option ID = 6808]

Correct Answer :-
e 1 [Option ID = 6805]

3 iz mitter & 9 Aios-frene feg o ige 38 oo 1ufoelt afesr @t yore 3 & oz =it wrdge @
Aa3 2 8t 3192 »iF fovmar o fade 7 arfe-fReve = y& 9, »iRs feg WeeorsHa ARETS Ot J | fraws-
st feg Hife w3 fevhr ¥ fed 7Y 39 35 9% o5 1=t R AW @ 337 § ofimr F fodmer & wid G
3 fed oR &% A3T T IMSes & 9 I AU I fag & 9% AaeT 7 u9 fever 3 gt arfe-fagne & Ao=



5OT | 5T WBdeSHE 59X & I 5dr @< [HaAE &, Hdl 7@ AHYl AAGSH Aane & giem=r 53
I vt 995 T feam gH § uEEe 9T §9 & afed yaeR I Sfum farwrs fewars eRer ufodt »iF ot
W3 & dt Hfenr 3160 aw 3 fefamrs 207 3 3t famrs @i & W= Haer 9, feR fem ufowt v yaeer
I o3 g Aoy |

&usaz U9 uza Is fad ymast @ €39 26
afe freme fam 33 T 999 AI= oot

(1)  »&ger & AaS (2) FH
(3) fewar (4) fai=

[Question ID = 1703][Question Description = Q93_24Punjabi Set1_B]
1 [Option ID = 6809]
2 [Option ID = 6810]
3 [Option ID = 6811]
4 [Option ID = 6812]

AN wnN -

Correct Answer :-
e 1 [Option ID = 6809]

4 wfez miftmr 2 dw wies-frerne feg @ foe 8@ o5 1ufesdt afes & e § & wrle Tt e
Aas 2 8t 319% »iE fawmar o fada 7 afe-fReve = y& 3, »iRs o9 WeeoTsHa ARETS Ot J | fraws-
3 fex TR o'% A3 T IMSes © g I AU 3 fig & 9% Aaer 7 u9 fever 3 fiag arfe-frene & o=
oot | folT wWEge=Ha eH T Ot a9t afe fiene @0, A9t 79 ATt ArRfasw frewme o gfemmt 33
3 1H3Ht 3% ® feam gy § ueER TF g9 3 ofex yaee I 3fuw famrs fewae eRe ufost w3 T
W3 = dt ¥fenr 3160 aw 3 fefamrs S0 3 3t famrs ot & W Haer 9, feR fem ufowt v yae=r
I 3 TH Aoy |

§ugas U uza 3o fed yEe @ €39 e
AAfgze frane = gfonmst 33
(1) Huar fetmar (2) 9= 3 fawmar
(3) &fgesT 3 afeas 4) fzu=r

[Question ID = 1704][Question Description = Q94_24Punjabi Set1_B]
1. 1 [Option ID = 6813]
2. 2 [Option ID = 6814]
3. 3 [Option ID = 6815]
4. 4 [Option ID = 6816]

Correct Answer :-
e 1 [Option ID = 6813]

%) mfes mitfier @ dm Afos-firere fee & ige 4 oo 1ufest afes @ yare § & oz o wdes @
Aa3 2 8t 3192 »iF fovmar o fade 7 arfe-fReve = y& 9, »iRs feg WeeorsHa ARETS Ot J | fraws-
3 fed oR &% A3T T IMSes & 9 I AU I fag & 9% AaeT 7 u9 fever 3 gt arfe-fagne & Ao=
aat | fouT WEge=Ha oeH T Ot adt afe fHewe @0, Hol 79 AN AAfgsS fAene @ giammst 33
3 1H3Ht I35 ® fearA gy § uEER TF g9 3 afex yaew I Sfuw famrs fesae eRer ufost w3 oWt
W3 = gt ¥fenr 3160 aw 3 fefamrs S0 3 3t famrs o & Wt Haer 9, feR fem ufost v yaeer
I T THt Aoy |
§ugas U uza Iz feu yEst @ €39 o6

g9 nigha ufgst 3 grt Hger faestr fagdr gs:

(1) 3= 3 fawrar (2) woa 3 fever
(3) & 3 fefus (4) yIre= T Feawy

[Question ID = 1705][Question Description = Q95_24Punjabi Set1_B]
1 [Option ID = 6817]
2 [Option ID = 6818]
3 [Option ID = 6819]
4 [Option ID = 6820]

A wWw N -

Correct Answer :-
e 1 [Option ID = 6817]



Topic:- 24Punjabi Set1_C

D oz wE & e wsfiast w Rfaeres oS fea-firm § & wd et § RS a9 A 31 s AOe
# Uewrg 3 founs a9s oo fefamrs »iS SaEieiaes = 993 HOSwY9s 98 0 wiS 3 & feR feg wehr
Ao9 St mifrret &% g5 ge 71 feR 499 fom o = Aasa gy Ot o=t fem o 3188 He-3wr
oG AR I T ROT A o T RET IS ARs AlsT  S3-Toed 3 QU e isg feg s @
Aaga U ¥ 5% &% (90sa Afenamg <t a1st few off AieT 31 T®AgY 97" & guat 3 fegrouea Wy de=-
fafonit feg A9 myt-Afgwrerax AYT €t 3fot afodt = »ia 92 7= ge 3 oS &a ot Ates A9 € fou
nigAg TEe ger 1 feR &2t w3-3r fiagr feRgd mufoor adt AT Aaer
§usas U9 uga Jo e yrer @ €39 fo6:

WmIF STHT 5% WY &t AS R 9

(1)  udafeast T Aignrers @ fegw 31

(2) AHAR 3 ufgar= HER TEEEMT 31

(3)  uafaest I Afewres o fex fim T & nus fewar 31
(4)  +iws st € U=t AoaeHt 51

[Question ID = 1711][Question Description = Q96_24Punjabi Set1_C]
1. 1 [Option ID = 6841]
2. 2 [Option ID = 6842]
3. 3 [Option ID = 6843]
4. 4 [Option ID = 6844]

Correct Answer :-
e 1 [Option ID = 6841]

WUF IE T 3 HRY Usfaest i3 Afgnrerg &% fea-fia T & niug fevar 3 A9 @9 AaeT 71 Aiws AOw
& Uewrg 3 founs ags fog fefamrs w3 Sadielaes = 993 HISwYes 95 0 wiS 3 & feR feg wrehor
A9 i RfRret 576 g9 e O few U39 o9 o = Aasa gy Ot st few wrer 9188 We-awr
2 5% faR 99 I @ Fo9 3t fonr 7 Faer 91U Aies AusT @ S8-soed 3 Quniw e ise fem s @
AaSa 3U ¥ &% o5 foona Afenramg =t arst few o A7eT 31 S®RgY 99" & guat 3 fegrourea Wy de=-
fafanit feg A9 Ay-Afgwrerax AYT &t 3foet afodt = »iar 92 7= go @ oS &a 9t Ates A9 2 faudt
WEAS Twer ger J1feR B8t W3-3 fagr feRg AHfer &dt A Aaer )

Sudas Uer uga 3o feu yast @ €39 fek:

T T A g g% =t few o O

(1) fefomrs 3 Saoia &t 293 g95 AN |

(2) feforrs 2 SastEiads T A99 9 AHfma=t A |

(3) Ho Ut orawr feg uafaast 3 AfeW=Tg € FHS A |

(4)  FH-Hg St FHfAret o7 99 996 AN |

[Question ID = 1712][Question Description = Q97_24Punjabi Set1_C]
1. 1 [Option ID = 6845]
2. 2 [Option ID = 6846]
3. 3 [Option ID = 6847]
4. 4 [Option ID = 6848]

Correct Answer :-
e 1 [Option ID = 6845]

WUE I 7S 9t HEH uSfaEst W3 Aignres &% few-fua @ & »uE fewar § AT @9 AEeT @)1 Fies AU
# Uewrg 3 founs ags o9 fefamrs »iS SaEidiags = 993 HOSwY9s 98 J »iS 3 & feR feg wrehr
Aog St mifrret &% g5 e 7| feR 499 fom o = Aasa gy Ot o=t fem wrEe 3188 w3
2 o5 faR 99 3 & RO9T 3 oo 7 Aae T IUS ARS AOsT @ S-TTEd s Qunw e usT fem s @
AaSE gU 2 5% 5% fSosa Afgnrerg & arst few o AeT 31 T@AgY 5 ¥ gust 3 feoruea Uy de=-
fafonit feg A9 Mywt-RAfgwerax AYT ©t 3foet afodt = »ia 32 72 ge @ oS &a ot Ates A9 © fomn
wEAS TEe ger 31 fen &Et w3-3r fiagr feRgd Aufoor ot AT AaEr

Qudaz o ugd I foit yst @ B39 o

I ¥ Fafsa gu 3 fogsa Afgwrerg o€ AEd@H 7€ T5:

(1) FHT T Hg-nTEt Y& AX | (2) HW=I-IH T 9 I & AfgwaT AN |

o — ¥ LW . BT T . SR . . L , AN - . N - | L. .. TR o ... S -




La) I=ldifa’e 3 SO €] =95 AR | vz} A= ATHO" € &8 =C'ed S @4Adl AA |

[Question ID = 1713][Question Description = Q98_24Punjabi Set1_C]
1. 1 [Option ID = 6849]
2. 2 [Option ID = 6850]
3. 3 [Option ID = 6851]
4. 4 [Option ID = 6852]

Correct Answer :-
e 1 [Option ID = 6849]

WUE FE S 9t HE Y uSfaest W3 Rignres 5% few-fia @ & »iuE fewar § AT a9 RaeT 91 Fies AOST
# U g founs a9s fem feforrs w2 Sodieiaes & 992 HoSwyss 98 T w3 97 & fer fes wrer
Ao9 St RHfrret &% g5 e 7| feR 499 fom o = Aasa gu @t o=t fee v 3188 we-3mr
Trmfaifesr oo dfor TR fiIwAss Fgs f Ss-soeg i Gunar S s feg g &
AaSE gU 2 5% 5% fSoaa Afgnrarg & arst few o /7eT 31 T@AgY I8 ¥ guat 3 fegrouea Uy deE-
fafont feg A9 mvit-Rignerax AYo <t 3fot afost & wiar 52 7= gor 9 w3 & &t fies A9 2 famd
gAY Twe ger 31 feR &8t w3-3w fagr feng mHfomr ot 7 Aaer

§udaz v uza I feur yre @ €39 fo6:

W3- far faRg wdt AHfEr AT RaeT:

(1) & & fiws 79 WgAS Iz TH FHE AI9 3 |

(2) fefamrs 3 Sastciags AN <931 A7 T6% IH 3

(3) Jiw, SRS 3 Aee o QuTeET 31

(4)  ¥iws AUST 3 F5-7CET T TTH B |
[Question ID = 1714][Question Description = Q99_24Punjabi Set1_C]
1. 1 [Option ID = 6853]
2. 2 [Option ID = 6854]

3. 3 [Option ID = 6855]
4. 4 [Option ID = 6856]

Correct Answer :-
e 1 [Option ID = 6853]

WUF IE 58 3 HEY Usfaest w3 Afenrers & fea-fia T & niug fevar 3 A9 9 AaeT 71 Aiws AOw
& Uerg 3 founs a9s fog fefamrs w3 SaEiclaes & 993 HOSwYes 98 @ wiS 3 & feR feg wrehr
A9 dhif RfRoret 576 g5 ge 01 few 499 fem o o Aasa gy Ot st few w9188 WI-IE
PR I T RT A T T RET I W AR Al - ed 3 Quum e dss feg s @
AaSa 3U ¥ &% o5 fogna Afewramg <t arst few o /e 31 S®RgY 97" & guat 3 fegrourea Wy de=-
fafanit feg A9 AysR-Afgwrerax Ay &t 3fot afodt = »iar 92 7= go @ oS &a 9t Ates A9 2 faudr
WEAS Twer ger J1 feR Bt W3- fagr feRg AHfer &dt A Aaer
§ugas U9 uza 3o feu yas' @ €39 fe6:

I = guet I fegreured Wy o=t @€ ger 9

(1) Hey = yfaest, Afgnrers 3 g o few fiw 92 31

(2) fefamrs 3 Sooieides ©f RHfMA=T & 05 o906 ©f ofFd AN |

(3) ies AOs' 3 f-T2d € Sutar v 55T §OIST § SOHE AN |

(4) 9, AT I AT T AfITT9R AL € Jfoe-gfost & O g==)

[Question ID = 1715][Question Description = Q100_24Punjabi Set1_C]
1. 1 [Option ID = 6857]
2. 2 [Option ID = 6858]

3. 3 [Option ID = 6859]
4. 4 [Option ID = 6860]

Correct Answer :-
e 1 [Option ID = 6857]





